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Kawana, & Nozawa (2002a) 00 FittingO0 O OO0 Q0000000000000 000O00OO0O
0000000000000 D0000OMaxon & Corman(1967), Maxon & Corman(1972) O O
godoooboobobbbbodooooouobobobbobbobooooUbDbobobboogPPRO
0000 Maxwell-Boltzmann OO O Elwert 000000000000 O0OOOODOOODOOO
Haug(1975a), Stepney & Guilbert(1983) 000 0000000000000 O0OOOOPPRO
000000000070 00000000000000OHaug(19752) 00000000000
goboobooboobooobuogPPROSOUOODUOODODOODDODODODODODDODDODO
00000 Stepney & Guilbert(1983) 0 0 PPRO OO O OO Fitting 0 0 0 O O O Fitting O O
00.06<2<10,000000 50keVODO IMeVOOO 130000005%000 FittingO OO
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0000000000 FittingODOOOOOOOOOODOOOO Alexanian(1968) 0 O OO PPRO
Emissivity U0 0O UOOOO0O0O0OOO0O0OOOO00O0O0OO0O0OOOOOO0O0OOobOOoooooooboo
O00000OMaxwell-Boltzmann O 0000000000000 OOODOODODOOODOOOOO
oo oo oo oo oOon
ggooooobobooobbbbdouguoooooobooooo

232 QJOOOOO

Maxon & Corman(1967), Maxon & Corman(1972) 000000000000 O00O0OOOOO
0000 Gaunt Factor OO OO OO O

(W (w))eedw = geﬁ(Oe,U) (W (W) g dw (2.39)
gee (O, u) = WE;HBJ(HQ,U) (2.40)
0, = ’:5—; (2.41)

u = IZ—“T (2.42)

J (Oe,u) = 10\/\/§EWU26“I(9@,U) (2.43)
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0
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A(u,y) = €y3 [{17— 3y
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b=y

(u,y)

{12(2—y)4—7(2—y)2y2—3y4
+ 3
—y)

2

000 Gaunt Factor 0 PPROOOCOOOO

J (e, u) = \/%G (u,6e)

OO0O0bO0bOd PPRUO Emissivity U O

71E
TL20TCC¥—— GNER

Pee " (k,7) P

1

G i) = 573/2

(z,7),

/Oodse SFNR A(x, ),
0

T 1
NR _ /5+xeXp(7\/s+m> B
ee -
S ]

o () 1

)

A(z,s) = {17_3<23+x>} s(s + )

+(23+x){12—7<

xr

2s+x

We]ZR(T) = 77”L602ngagpcom'3/2 GNR(T)

GNE(r) = /0 dre *GNE(z, 7).

000 fNE0 Elwert Factor 00 00
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0 O O Itoh, Kawana, & Nozawa (2002a) 00000000000 FittingOOOOOOOOO
00 50eV < kT < 25keVO 1074 < 2 < 10Fitting 0 0 0 0.1%0 0 0 OPPR O Fitting 0 00O
ggooooaooon

Polh,r) = n%—Tcaﬁ% Gl 1), (2.53)

G(z,7) = \/722%@ XJ (2.54)
i=0 j=0

= 1. (logT +2.65), (2.55)

X = 5E (loga: + 1.50), (2.56)

Wee(7) = mec?n’opcar™?G(7), (2.57)

10
G(r) = \/gzbz@i, (2.58)
=0

0007 = kT /mec? Dm—k/TDDDDDDDFlttngDa DbIDDDDDDDDDDDDD
U000 FittingOOOOO FittingOOOOOOOOOODOOOOOOODODOOODOODOODO
gbbodgboooboooooabod
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O 2.1: Fitting O O ailk (Itoh, Kawana, & Nozawa 2002a 0 0 00)

k=0 k=1 k=2 k=3 k=4 k=5

1=0 3.15847E+0 —2.52430E4-0 4.04877TE—1 6.13466E—1 6.28867E—1 3.29441E-1
1=1 2.46819E-2 1.03924E—-1 1.98935E—1 2.18843E—-1 1.20482E—1 —4.82390E—-2
=2 —2.11118E—-2 —8.53821E—-2 —1.52444E—1 —1.45660E—1 —4.63705E—2 8.16592E -2
=3 1.24009E-2 4.73623E—-2 7.51656E—2 5.07201E-2 —2.25247TE—2 —8.17151E-2
=4 —5.41633E—3 —1.91406E—2 —2.58034E—-2 —2.23048E—-3 5.07325E-2 5.94414E-2
=5 1.70070E—-3 5.39773E-3 4.13361E—-3 —1.14273E—-2 —3.23280E—2 —2.19399E-2
=6 —3.00111E—4 —7.26681E—4 4.67015E—3 1.24789E—2 —1.16976E—2 —1.13488E—-2
=7 —1.21721E—4 —747266E—4 —2.20675E—3 —2.74351E-3 —1.00402E—3 —2.38863E—3
1=8 1.77611E—-4 8.73517TE—4 —2.67582E—-3 —4.57871E—-3 2.96622E—2 1.89850E—2
=9 —2.05480E—-5 —6.92284E—5 2.952564E—-5 —1.70374E—4 —5.43191E—4 2.50978E—-3
=10 —3.98754E—-5 —1.80305E—4 1.40751E-3 2.06757E—-3 —1.23098E—-2 —8.81767E—3

k=6 k=17 k=8 k=9 k=10

=0 —1.71486E—1 —3.68685E—1 —7.59200E—2 1.60187E~—1 8.37729E -2
=1 —1.20811E—-1 —4.46133E—4 8.88749E -2 2.50320E-2 —1.28900E—2
=2 9.87296E—-2 —3.24743E-2 —8.82637E—-2 —7.52221E-3 1.99419E—-2
=3 —4.59297TE-2 5.05096E—2 5.58818E—2 —9.11885E—3 —1.71348E—-2
=4 —2.11247E-2 —5.05387E—-2 9.20453E-3 1.67321E—-2 —3.47663E—3
1=H 1.76310E—2 2.23352E—-2 —4.59817TE—-3 —8.24286E—-3 —3.90032E—4
=6 6.31446E—2 1.33830E—2 —8.54735E—-2 —6.47349E-3 3.72266E—2
=7 —2.28987E—-3 7.79323E-3 7.98332E-3 —3.80435E—-3 —4.25035E-3
=8 —8.84093E—2 —2.93629E—-2 1.02966E—1 1.38957E—2 —4.22093E-2
=9 4.45570E—3 —2.80083E—3 —5.68093E—3 1.10618E—-3 2.33625E—-3
=10 3.46210E—-2 1.23727TE—-2 —4.04801E—-2 —5.68689E—3 1.66733E—2

O 2.2: Fitting 0 0 b! (Itoh, Kawana, & Nozawa 2002a 00 0 0)

bi

1=0 2.21564E40
1=1 1.83879E~1
=2 —1.33575E—-1
=3 5.89871E—2
1=4 —1.45904E—-2
1=b —7.10244E—4
1=0 2.80940E—3
i=7 —1.70485E—3
1=8 5.26075E—4
=9 9.94159E-5
=10 —1.06851E—4
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233 0O0OOO

e[10DODOO
Haug(19752) 00 00 0000000000000 0OODO0O0OOO0OO0OOOOODOOODOOOO
gbbodobbooobooboooo

/2 _
p74/Ade,
T 1

(2.59)
w4 p? (o —m\2 1/1 1\? p? 202 1

:1/102_4 P ! 2 - = = = _p_2++ 1_{_27
4129 x 4 \z1 9 2z (w? —4) x129 w? —4

(w? - 2)2 6 4p?x
3 —22241 _
W g T { * w?(w? —4) } (w? —4) 3

P’ 4 3 8 (w?—2)2 p?

m_%[ﬁ 22 (W2 —4)? W (w?2—4) (W—-4)m

BT O L )
+ \/LR_l{zHg:i2 (10_ “;) - :c% (22 — 2y 1) + 3w24(:;_ 4)
* 19 (mQ “smbdd 2p2m: 3> + - _;Ll;ifxl% [w:;? - (:02 - 2) - 2m1]}

2 2, 2
B PT=2 9 9 2 1 2 we+p7 2 52
2+ o (W +p*—4)" + o [(,0 2){( 5 2> T2 — (w 2)} 225 4x2]

b [E2 B )~ (- 5)) + 2 = b+ (- D))

Roz | 2
- )‘%(“2‘2)‘WZpr;2_4< P=2) (@ - 2)
+ (0% —2) (0 - 4) - 825 i]+ 5 3562 2P -2 aat (WP —4) x4 (W —2)
- w?(W? —4)z; Ry
82_3:2 (W? - 2)] + %RQ [pQT_Q {3(p* —4) —w?(p*=5)} — a1 (W* — 219 +4)]
g 0 G G [ ]
b B et 9
+ 2179 (1 -z —27) + w21_4 (,02—4— w28_4>}+{ac1 — zo}. (2.60)
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= (P1 +P3)* = 2[(pip2) + 1]
(P + Py =2[(piph) +1]
x1 = (kp1) , 22 = (kp2)

x = (kp1) + (kp2) = u ;p

m?
R1:p2—4+4m1+4p—;

Ry=p> —4+2x; =w?—4 -2,

2
p-—4 21
Wy =4 /x9 ( $2+-2——>
\/ 4 p?
xle]

W4=\/(w2—4> [1(w2—4>(p2—4>+4 p

4
L= 110{4—21 [RQ +(p? —4)R1]}
2 __
[, =P tvr -4 v2p4

Ly = ln{l L [(p2 —4) ay +2\/p2——4w2]}

drxq
2
(w\/p2—4+p\/w2—4>
L3::ln D) B
4 (w? = p?)
2
L4:ln{1—i— P [(w2—4)(,02—4)—1—2\/,02—4W4]}
8$1$2

oooop,,P,000000040000000p,p 0000000 30000000PY,,P;
0000000 40000000p,p,000000030000000000

oPPR,
Stepney & Guilbert(1983) 00 000000000000 DOO0OOOO PPROOODOOOFitting

00000 (50keV< 7 < 1MeV,0.05 < 2 < 10)0 PPR [

N, 2
P.(k,7) = ANee = Clte /dele e/t /de e 62/T/d,u\/,u - dk’ (2.61)

dVdtdk [27’[(2(1/7')]2

do 3 k

obobobobobob pPROODDOODOODOODOOOODOO
0 00O Stepney & Guilbert(1983) DO 000 FittingOD O OO ODOO0OO0OOOOOOO

Gsq(z,7) =(A+Ba)ln(1)+C+Dz 005<z <11
= az? —i—ﬁw—l—v—i—g 1.0 <2 <10.0 (2.63)

Gsa (1) = V7 (0.797A + 0.164B + 0.632C + 0.264D
+1.839a 4 0.7363 + 0.368~ + 0.2190) (2.64)
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0 2.3: FittingO O A, B, C, D 0.05< z <1.1(Stepney & Guilbert 1983 000 0)

kpT[keV] A B C D
50 1.584  0.578 4.565 2.091
75 1.357 0437 3.842 1.855
100 1.197 0291 3.506 1.672
150 1.023  0.204 3.036 1.593
200 0.883 0.0835 2.831 1.487
300 0.700 -0.0494 2.545 1.364
400 0572  -0.139 2.352 1.254
500 0.484 -0.181 2.175 1.179
600 0.417 -0.209 2.028 1.108
700 0.361 -0.240 1.914 1.030
800 0.322 -0.244 1.795 0.982
900 0.286 -0.257 1.705 0.923
1000 0.259 -0.258 1.617 0.879

0 2.4: FittingO O «, 3, v, § 1.0< 2 <10.0 (Stepney & Guilbert 1983 0 0 0 0)

kpT[keV] A B C D
50 0.0387 0.523 5.319 0.782
75 0.0633 0.540 4.412 0.689
100 0.0862 0.569 3.897 0.633
150 0.128 0.596 3.383 0.523
200 0.159 0.658 2.974 0.532
300 0.208 0.633 2.738 0.326
400 0234 0.643 2424  0.302
500 0.245 0.695 2.025 0.394
600 0.248 0.729 1.716 0.453
700 0.247 0.756 1.457 0.500
800  0.243 0.763 1.271 0.515
900  0.239 0.755 1.140 0.508
1000 0235 0.735 1.060 0.478
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Alexanian(1968) 00 0 0000000000000 U0DO0O0OO0OOO PPRO Emissivity 00
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GF(z,7)

Ei(—z)
W (r)
GER(T)

2 e”” 1 GPR (2, 7)
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e¢T 7 \/7—_ ) )

3 1 28 1

dr /7 | 3 2 3

8§ 4
—e"Ei(—x) <§ — 3¢ + x2>} ,
o] —t
_ / i
= t

meCanaTcozT3/2 GER(T),

) lr12—T-i-§
T\ v 4)

O00E(-2)00000000000y =¢% and C = 0.57721

gboboodgbooooo
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kODO 400000000
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p3,p4a 000000 300000000
kOO0 300000000
E,E:00000000000
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ugbogboodgbod

do = ¢ m m m
BV BV E3V

) <ETV> (21;1/) (2m)°0%(p3 + pa + k —p1 = po)

1\* 1 , v 1% v
x| —) x= Tr|* x d*k d? d?
(2m> 4 Z T en? en? Paap P
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14 1
X X 3.1
lvg —we| T (3.1)
0000000000
Z |T7"|2 =T +Tio+ T3 +Tig + T +Toz + Tog +T33 + T34 +Tas (3.2)
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spins
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P 1
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1 ~
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gobooboboooboooo

d® p3 6 (B, + By — kg — E3 — Ey)

EsFEy
1 E3E40 — P
:EEdesdp-'ﬂ)% _ 3L4 (|1i’3|ﬁ pS)
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dQ),,.p?
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gooooogoooggn
2
1
do =—0 Ay dkodS,,
64:71'2 2 4
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kop3m? 2
X — Tr 3.9
|103(El-1-EQ—7€0)—E?,P?,'(P1+P2—k)|s%;s| | (3.9
goopooogoooocgogno
o ar m?
Q  64n2
d kdk}o 64w (p1 . p2)2 — mi
k %)
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_ar} m?
= i
Gm (p1 ']92)2 —m
koPNZ 2
x/de3W3 Z |Tr|
spins
(3.10)
gooooooowpboboooouoogd
W = ‘ﬁa(EleEz—ko)—E;ﬁs'(P1+P2—k)‘

= {P (B + By~ ko) - B3 [Bs - (p1 + P2 — K))”
1
—2E3p3 (B + E3 — ko) p3 - (p1 + p2 — k)}z
= {B3 (B + By — ko)’ + 3 [Bs - (p1 + 2 — K
—2E3p3 (E1 + By — ko) Bs - (P1 + p2 — k)

1
+m2 [[f3 . (p1 + P2 — k)]2 —m (E1 + E2 — k‘o)Z}z

- \/(P3 -pa+m?)” +m?[P3 - (p1+ p2 — K)I° —m (Ey + Bz — ko)” (3.11)

O0O0ps 000000

E1+E2—ko—E3—\/(p1+p2—k—p3)2+m2=0
(3.12)
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= (By+ By — ko)* — (p1+ p2 — k)* + 2ps - (p1 + p2 — k)
goooood
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oOooooopDAOdODOOOO

A = [ps-
{(E1 + By —ko)® — [P3- (p1+ P2 — k)]Z}

2

X [4m2 (E1+E2—k0)2—4(p1'p2—p1'/€—p2'/€+m2)2]>
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+m? [P3 - (p1+ P2 — k)| — m? (By + B, —ko)Q}
ooooooooad
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X Pnﬂ(E1+£b—%mf-—{uﬁ—%Ez—kMQ—(p1+1m-—kf}1>
(
(

(3.13)

(3.14)

(3.15)

(3.16)

(3.17)

(3.18)

(3.19)



000000000
OO0 |TrP00000000000|Tr?0000

P1-P2,P1°DP3,P1 P4,D2°P3,P2 P4 P3 Pa,p1-k,p2-k,p3-k,ps-k
(3.20)

gioooogbobooboobooobooboobboobooobooobobooon

pL+p2=p3+ps+k

(3.21)
gobooooood
p1-p2=p3-pat+pr-k+ps-k (3.22)
guoooooood
PL-p2=p3-pa+p3-k+psi-k
PL-p3=p2-patpr-k+ps-k
pL-ps=p2-p3s+p2-k+ps-k
P2 p3=p1-patpr-k+ps-k
p2-ps=p1-p3+p-k+ps-k
p3-pa=p1-p2+pi-k+p2-k
pL-k=py-ps+p2-pi—ps-ps—m’
p2-k=p1-ps+p1-pi—ps-ps—m’
p3s-k=p1-pr—p1-pi—p2-ps—m’
pi-k=pi-pa—p1-ps—p2-p3—m’ (3.23)
gdodooooouooooouoooo
pL-pa=p3-pstpr-k—pi-ps+m’
p2'P3=p3'p4+p3'k—p1-p3+m2
p2-pr=p1-ps+pi-k—ps-k
pa-k=p1-p2—p3-pa—p3-k
p3pa=p1-p2—p1-k—p2-k
(3.24)

gboogaoogo |T7‘|2|]DDDDI]DDDDDDDDDDDDDDDDDDDDDDDDDD
gbbodbooobad

49, = sin 6y, dfdo (3.25)
p1 -k = |p1| ko cos b

pi-p3 = |p1] [p3| cos O,
p3 - k = |p3| ko {cos b, cos Oy, + sin b sinb,, cos (¢, — ¢p,) } (3.26)
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goodbtbodoooooooobobbbboboodooogoo

p1+p2=p3+ps+k=0 (3.27)
goooaoooooooobo

9F, = 2y = Fs + Ey + ko (3.28)

gboobobooboboobobo w,ps00oog

W= \/(pg g +m2)? +m2(p3 - k)? —m (2F) — ko)?
(ps-ps+m?)ps- k£ (2B, — ko) W
(2B — ko)® — (13 - k)?

p3 = —
(3.29)

000000000 El=E,—-m,0,0p 0 k000000000000 DO0OODO Haug(1975a)
gobooobooobboobobooobooobbooobooobobooobbooboo
00 Haug(1975a) 00000 0000000000000 0000000 HaugOOOOOGOGO
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3.2 0OOOO
3.2.1 0J00O0OO0OOOO0ODbOOObOOO PPR

00000000000 PPRO Stepney & Guilbert(1983) 000000000000

k _k o) T o
P (k,7) = ?gﬂngaTC ex;i( r) - 2/ dsexp(—s)/ dt/ Zdu
= e (3) Ko (1)) o ",

Omes sin 0dO ™
_ | dgx 3.30
X/o [2(u+1—x)]2/0 ’ (530

2 _
Y = L"l/Ade
T

(3.31)

T :6_2,(81S8)

T =B - 2(u+ D} (512 9)

N

M1 = HUmin, #2 = Hmaz, [k <F (Nmina E)]
M1 = Mk, 42 = Mmaz [F (Mminae) <k<F (Nmaxae)]

pr = pype =1+ k [(e—k)+ {(E—k)2 —4};] , [k > F (ftmaz €)]

e — 1)
c0S Opee = Max k - —1
{e—2(u+1)}>

€E=€] + €9

o= 1k [e=0) = {(e— 02— 1}]

1

k) k— [k +4k]> +3
T 20k + 4K +3

S1

Hmin = €1€2 — P1 P
HUmaz = €1€2 + P1 Py

F () = pol
e— [ —2(u+1)]

N

oooboOoOoPPROODDOOCOOOOSO0ODO0OO0ODO0OOODDO0OO GaussUOOOOOO
gobooobobobobooboboobobuooboobbboboobobooooobog
gobobooopooooobobboooobboooobobooooobobboloooooobog
10*<r<1000000000000000000000000000000O000000O0O0
OO0 1keV <kpT <7MeVOOUODOOOOOOOODOOOODOOOOOOOOOODOOO
ggbbodobbuooboboooobooobuoooboobbooobooobboooboo
gobooboopoboooboooobobooboobooon
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O00000000000000000000000000000000000000 000 Elwert
Factor

ar 1 —exp (—2ma;)

; == 3.32
fee (alﬂ af) a; 1 _ eXp (—27T(lf) ( )
pgddootdooooodbooooobooooouoouoon
3 k _k oo T 2
P, (k‘,T) = ﬂngch exp( T) 2/ ds exp (—S)/ dt/ du
16x" T e (5) Ko (D)) o 2",
[4 : T
maz sin #df
x/ l/mmﬁg (3.33)
0 2(p+1-z)> o
N
o= YT F /Ade (3.34)
T
Pt/ 1
fee - ﬁiQ 627ra/ﬁ’12 _ 1 ’ (335)
wVw? —4
gy = W (3.36)
;o pYpP—d
Bz = TR (3.37)

0000000k=hy/m?0000000000000000000000 7=kpT/mecO
000000000000000000000000 Ky(1/7)0000000000000 o0
00000000, 00000000000000w?=(p14p2)20 p?=(p,+ph)2 Op=p1-po
000000000 p (p,)0pe (py,) 0000 (000)000000000000000000
00000000000000000001/7[AdQ,00000000000000000Haug
(19752) 000000000000

O0OOPPROOODOOOOOOOOODOOOOOO

—X
P (k,7) = ngUTca%\/L_ G(z,T1), (3.38)
T
000z=k/r0000G(z,7) 0
2 00 T M2
G(z,7) = 32 vT 2/ dsexp(—s)/ dt/ du
167 [2exp(1/7) K2 (1/7)]" Jo -1 S
Omax : ™
[T [ ders., (3.39)
0 2(u+1—2x) Jo
/2 _
Y = pTZl / AdQy, (3.40)

0000000 FittingD OO OO0O0O0O0OOOStepney & Guilbert (1983) 0 0 0 O Fitting 0
0 G(x,7)0000000,/700000000

Gsalz,7) = %G(w), (3.41)

SG O Stepney & Guilbert 0 0 00
00O Elwert Factor O O

Foc(nT) = graiirs. (3.42)
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O0000000000G(z,7)0 Elwert Factor 00000000 O0G(z,7; fee = 1) O Elwert factor
oodo fe=1000000000DO0ODODO
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G(x, T)

0 2 4 6 8 10
X=hv /kT (T:7FTSXVEE v BENLFEEER

034 00000000000 DbObLObObObObOObObOObDObOn PPR kBT = 1keV
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G(x, T)

0 2 4 6 8 10
X=hv /kT (T:7FTSXVEE v BENLFEEER

O35 0000000000000 0000D0D0Ob0OObOb0OOUOU0OO PPR kT = 10keV
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U 36: 0000000000000 0O0O0O0O0O0O0O0O0O0O0O00O00O00 PPR kT =100keV
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60 r

G(x, T)

039 00000000000000O0ODOD0OO0ODOOO0ODODOOOD0OO PPR kT =1MeV

2 4
X=hv /kT (TS XBE
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60 r

G(x, T)

0O 3.10: 00000 0ooooooooogogogooboooooonboon PPR kT =5MeV

2 4
X=hv /kT (TS XBE
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6 8
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G(x, T)

U 311: J00000oogooooogogoooooooooonoon PPR kT =7MeV

2 4
X=hv /kT (TS XBE
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6 8
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X=hv /kT (T:FTSXTEE v RS FRERE

0 313: 000000000000 00 Elwert Factor kT = 10keV
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2 4 6 8
X=hv /kT (T:7FTSXVEE v BENLFE KR

0 3.14: 00000000000000 Elwert Factor kT = 100keV
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1.1

1.05

0.9

0.85

0.8

2 4 6 8
X=hv /kT (T:7FTSXVEE v BENLFE KR

0 3.15: 00000000000000 Elwert Factor kT = 300keV
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1.1

1.05

0.9

0.85

0.8

2 4 6 8
X=hv /kT (T:7FTSXVEE v BENLFE KR

0 3.16: 000000000000 0D0 Elwert Factor kT = 500keV
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G(x, T)

0 2 4 6 8 10
X=hv /kT (T:TSXATEBE v RS LFEKEER

U317 0000000000000 ooooooboonoon PPR kT = 1keV
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G(x, T)

0 2 4 6 8 10
X=hv /kT (T:TSXATEBE v RS LFEKEER

U 318: 0000000000000 0000000ou0booooooogn PPR kT = 10keV
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0 2 4 6 8 10
X=hv /kT (T:TSXATEBE v RS LFEKEER

0319 000000000000 bodbuoboboboooobuobobbod PPR kT = 100keV
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40 +

G(x, T)

20 -
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X=hv /kT (T TSATEBE v BELFEIRE

0 320: D0U0D0ODOO0O0O0ODOODO0ODbObDOobOO0oDoboOobobOd PPR kT = 300keV
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3.22 O0O0O0O0OO0OOOODOODOODO Emissivity

U00D00OD00OD0OD00O Emissivity U O D0 Emissivity O D O0OO0O0OO0OO

Wee(T) Bee _ 0. /OodkkP (k,7) (3.43)
T) = = ), .
ee dth e 0 ee
= me®nopcar®? G(T), (3.44)
G(r) = / dre *G(x,T). (3.45)
0

OOoooDooOOoO0o0be0OUOObODOOOODOOOkETODODOOUOODD-.OO0OODOLOO
gboobobooboooooobobo0oooobobobobobod PPRO Emissivity O 0O

UO0000OFitingD O ODOODOOOO
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3.3 Fitting

U000 Fitting O O PPROEmissivity DO 0OO000000 2000 FittingDDOODOODOODO

1keV < kpT < 300keV ... 001
(3.46)

300keV < kT < TMeV - OO0 II

gbIlobooboboboboboooooooobo Iooobooooobooobooooooobn
gbooboobogobog

3.3.1 00 I (1keV < kpT < 300keV)

oPPR
000000000 b0O0o0b00o0ooOooDbOn FittingOoood

e’ 1
PlLk,7) = TLgUTCOéTFGfDW(%T)FéC(%T), (3.47)
000GL,(z,7) 000000 (PW)0O0O00G(z,7; fee =1) 000000 Fitting0 00000
gogood

Ghy(z,7) = ZAI 7)o’ — e"Ei(-x) >  Bl(r)a', (3.48)
=0
Al(r)y = Zaijj/S, (3.49)
j=0
8 .
Bi(r) = Y b8, (3.50)
j=0

O0O0E(-») 0000000000 0Fitting00 a/,0b,0000000000F,u(z,7)000
U0bOo0db0oOonnb FittingODOOOODOOO

0000000000000 00000D000 kT =1keVO 10keVO 100keVO 300keV O O O
00 17%05%00.7%00.2%0 00 0 0 0 0 0 O Elwert Factor O Fitting 0 kgT > 300keV 0O 0O
ogoooood

gooooodoon

6
Flo(z,r) = 14> Cl(m)a'/?, (3.51)
6 .
Cl(r) = Y /", (3.52)
§=0

Fitting 0 O c -0000000Fitting 00 Ghy (2, 7)0 Flo(z,7) O 1keV < kT < 300keVO
10~ 4§m§10DDDDDDDDDDDDDDDDGPW(m,T)DFCC(x,T)DDDDDDDDDD
D000GLy (2,7)0FL, (2,7)0000000000 0.5%00.2%00000000PPRPL(k,7T)
000000 05%0000000
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O 3.1: FittingD O al, bl

i g
aéj a{j aéj béj b{j
=0 —3.7369800E+1 —9.3647000E+0  9.2170000E—1 —1.1628100E+1 —8.6991000E+0
=1  3.8036590E+2  9.5918600E+1 —1.3498800E+1  1.2560660E+2  6.3383000E+1
j=2 —1.4898014E+3 —3.9701720E+2  7.6453900E+1 —5.3274890E+2 —1.2889390E+2
=3  2.8614150E+3  8.4293760E+2 —2.1783010E+2  1.1423873E+3 —1.3503120E+2
j=4 —2.3263704E+3 —9.0730760E+2  3.2097530E+2 —1.1568545E+3  9.7758380E+2
=5 —6.9161180E+2  3.0688020E+2 —1.8806670E+2  7.5010200E+1 —1.6499529E+3
j=6  2.8537893E+3  2.9129830E+2 —8.2416100E+1  9.9681140E+2  1.2586812E+3
=7 —2.0407952E+3 —2.9902530E+2  1.6371910E+2 —8.8818950E+2 —4.0474610E+2
=8  4.9259810E+2  7.6346100E+1 —6.0024800E+1  2.5013860E+2  2.7335400E+1
0 3.2: Fitting 0 O ¢f}.
ch; ch; chj ck; ch;
=0 —5.7752000E+0  3.0558600E+1 —5.4327200E+1  3.6262500E+1 —8.4082000E+0
j=1  4.6209700E+1 —2.4821770E+2  4.5096760E+2 —3.1009720E+2  7.4792500E+1
j=2 —1.6072800E+2  8.7419640E+2 —1.6165987E+3  1.1380531E+3 —2.8295400E+2
j=3  3.0500700E+2 —1.6769028E+3  3.1481061E+3 —2.2608347E+3  5.7639300E+2
j=4 —3.2954200E+2  1.8288677E+3 —3.4783930E+3  2.5419361E+3 —6.6193900E+2
=5  1.9107700E+2 —1.0689366E+3  2.0556693E+3 —1.5252058E+3  4.0429300E+2
j=6 —4.6271800E+1  2.6056560E+2 —5.0567890E+2  3.8008520E+2 —1.0223300E+2
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eEmissivity
00 Emissivity 0 FittingO OO OOOOOO Wee O

Wee (T) = mec? / dkkPye (k, )
0

goboodbooooPPRO
e’ 1
P (k,7T) = nQUTCQT \/_FG (x,7)
gogooon
Wee (7) = mec®nZopca—r / dkk—G(m 7)

xr

gbooboooood

k
r=—
-
dk = tdz
oo
Wee (7) = mec®n aTca—/ dear?s G (z,7)
= m602n20T0a72 / dee "G (x, 1)
0
ogoooooo
wWEIT (1) = mCCZ/ dkkPEIT (k, 1)
0
PEIT (k. 7) = n? e’ 1 GFIT (2, 7)
T) = njopca— — z,T
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16k - psp1 - pa_ 32p1 -pspr-ps | 32p1-pa | 16p1-ps
k-pik - p2 k-pik-ps3 k-p1 k- p2
16k - pop1 -ps 16p1-ps 16k - paps - p3 | 16k - paps - p3
k-pik-ps3 k- ps3 k-pik - ps k-pik-p3
_ 32py-p3p2-p3s 32p1-p3p2-p3 32p1-pap2-p3 32p2-p3
k-pik - ps k- pak - p3 k- pak - ps k- p1
L 32p2-ps _ Gdpa-ps | 16K -psps-ps  32p1 - pspr - pa
k- p2 k- ps k-pik - p2 k-pik - ps
_32p2-pspa-ps  16pa-ps | 32pa-ps | 16k -pip2-ps  16p2 - ps
k- pak - p3 k- p1 k- p2 k- pak - ps k- ps
_ 32p1-p3p3-pa 32p2 -p3p3-ps 48p3-ps 48p3-py
k-pik-p3 k- pak - p3 k-p1 k- p2
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m” ( + -

k- p3 k-pik-p3 k- p1
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k- p2k - p3 k- po k-pik-p2 k- p1
32p1 - pap3 - psa | 64p1-pop3-ps 64p1 - popr - p3ps-pa 32k - pap1 - p3p3 - pa
+ + + —
k- p2 k- p3 k-pik-p3 k-pik-p3
39p - . 64n - . . 39k - . . 320, - .
+ D1 - P3P3 - P4 n D1 - P2pP2 " P3P3 P4 P1p2 - P3P3 - P4 i P2 D33 P14 _ 4ps-pi) )
k- p3 k- paok - p3 k- p2k - p3 k- p3
6
e m m m m 1
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1
X
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64
6
-m’——
e
2 . .
+m4(_ 32k - py _ 64p3 - pa
k-psk-ps k-p3k-ps
_ 32 n 32k - ps _ 32 _ 32k - py
k-ps  k-psk-ps k-ps k-p3k-p;
64p1 - p3 64p1 - p4 32k - po 32k - po

k-psk-pr  k-pik-pi k-psk-p1 k-pik-p
32k - ps 32 32k -py 32k -ps

k-psk-pr k-pr (k-p1)?  (k-p1)?
32k -ps  32p1-p2  32p1-p3  32p1-py
(k-p1)?  (k-p1)?2  (k-p)?  (k-p1)?
32py -ps | 32pa-ps | 32p3-p4
(k-p)?  (k-p1)?  (k-p1)?
32(p1 - p3)®  32p1-papi-p3  32p1-papi-ps

2
i k-pik - p3 k- pik - p3 k- pik - p3
_ 32p1-papy-p3 32p2-p3p1-p3 32p2 - papi-p3 32p3 - papi - p3
k- pik - pa k-pik - ps3 k-pik - ps3 k-pik-ps3
32p3 - pap1-p3 | 64p1-ps 32pi-p3 16k -popi - p3
k- psk - pa k- p1 k- ps k- pik - ps
16k - pop1 - ps | 32p1-ps _ 32(p1 - pa)® n 32(ps3 - pa)*
k - psk - pa k- pa k-pik-ps  k-ps3k-pa
32k -py 32k -pok-py 16k -pip1-p> | 64p1-po
k- p1 k-pik - p3 k-pik - p3 k- p1
L 48p1-pa 16k -pspi-p | 48p1-p2  32p1 - papi - pa
k- ps3 k-pik - ps k- pa k-pik - ps
L 84p1-ps 16k popi-pa  32p1-pa 16k -popi-ps
k- p1 k- pik - ps k- ps k- psk - ps
_32p1-ps 16k -papo-p3  32p1 -pap2-p3 | 16p2 - p3
k- p4 k-pik - ps k- pik - pa k-p1
_32pa-ps 16k -pipo-p3  16pa-p3  32p1 - pap2 - pa
k- ps3 k- psk - pa k- p4 k- pik - pa
o Y6p2-ps  16py-ps 16k -pspy-ps 16k -pips-ps
k- p1 k- ps k- pik - ps k- psk - ps
_ 32p2-py | 64k -pop3-py | 32p1-paps-ps 64py - paps - pa
k- pa (k-p1)? k- psk - ps (k- p1)?
_ 32p1 - pap3 -pa | 32p1 - pap3-pa | 32p2 - p3ps - p4
k- pik - pa k- psk - pa k- psk - pa
L 32P2 - paps-ps  32ps - pa 16k - pops - pa | 16k - pops - pa
k- psk - pa k- p1 k-pik - ps k-pik - ps
32k -pips -pa | 32k-pops-pa | 32k-p1 32k -pr
k- psk - pa k- psk - pa k- ps k- pa

. 32]6-])2]6-])3 32k-p1k'p2
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— Y 64p1 - p2(ps - p1)° 32k - pap1 - pap1 - p3s 32p1 - pap1 - p3

— 64p1 - po +
k- ps3k - p4 k-pik-ps3 k- p1
32p1 - pap1-pa 32k - p3p1-pop1-ps 64k -pop3-ps 64p1 - pops - py
_ + _
k-py k-pik-ps k-p1 k-py
_ 32p1-pop3-pa 32p1-pop3-pa 64py - pop1 - paps-pa 32K - popy - p3ps - py
k-ps3 k-pa k-pik-p3 k-pik-p3
64p1 - pop1 - pap3 - pa 32k - pap1 - pap3 - ps  32p2 - p3p3 - pa . 32p2 - pap3 - P4
+ - + + ) }
k-pik-ps k-pik-ps k- p3 k- p4
6
e m m m m 1
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64p2 -p3  32p2-p3  64p2-py
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(k-p2)?  k-psk-ps  (k-p2)?
32 32 32k - p3 32k - po 32
k-ps k-ps k-pak-ps k-psk-ps k-m)
32(p2 - p3)®  32p1-papa-p3  32p1-pap2-ps
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2
e k- pak - p3 k- pak - p3 k- pak - p3
_ 32p1 -pap2-p3 32p2 - pap2-p3  32p2 - pap2 - P3
k- pak - p3 k- pak - p3 k- pak - pa
_ 32p3 - pap2-ps | 32ps - pap2-ps  Gdps-ps
k- pak - p3 k- psk - pa k - pa
_ 32p2-p3 16k -pips-ps | 16k -pipy - p3
k- p3 k - pok - py k- psk - py
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k- pa k-pok-ps  k-psk-ps k- pak - p3 k- pak - p3 k- p2 k- ps3
16k - psp1 -p2 | 48p1-pa 16k - pap: - p3
k- pak - py k- pa k- pak - p3
L Y6p1-ps  32py-ps 16k -popy-ps  16py-ps | 16pi-ps  16p1-ps
k- ps k- p3 k- psk - p4 k- pa k - p2 k- ps
16k -psp1-ps 16k -popi-ps  32p1-pa
k- pak - py k- p3k - py k- py
_ 32p1 -pop2-pa 32p1 - p3p2-pa 32p1 - pap2 - pa
k- pak - ps k- pak - pa k- pak - ps
n 64ps - ps 16k - p1p2 - pa 4 3220 pa 16k - p1p2-ps 32p2-pa | 32p1 - p2p3 - P4
k - pa k- pak - p3 k - p3 k- psk - pa k - pa k- p3k - pa
_ 64py -pop3 -pa | 32p1 - p3p3-pa | 32p1 - paps - p4
(k- p2)? k- psk - ps k- psk - ps
_ 32p2 - pap3 - pa | 32p2 - pap3-ps | 32p3 - pa
k- pak - ps k- p3k - pa k - pa
16k - p1p3 -ps | 16k -p1p3 - pa N 32k - p1p3 - pa
k- pak - p3 k- p2k - p4 k- p3k - pa
32k - pap3 -ps | 64k -pips-ps | 32k -py
k- psk - ps (k- p2)? k- p2
32/€'p2 + 32]€'p2 _ 32/€'p1/€'p3 _ 32/€'p1/€'p2
k - ps3 k- p4 k- pak - p4 k- p3k - pa
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_ 32(p1pa)® 32(p2-pa)® 32k -psk-ps | 32k - pa
k-pik-ps  k-p2k-ps4 k-pik-p2 k-py
32k -py 16k -pap1-p3  32p1-p3 n 16p1 - p3

+

k- p2 k- pik - p2 k-p k- p2
16k - pop1 -p3  16py -p3 16k -p3pi-ps 32p1 - p3p1 - p4
k-pik - py k- pa k-pik-po k-pik - py
L 32p1-ps 321 -ps | 16K - pspy-ps 64ps - pa
k-p1 k- p2 k - pak - pa k- pa
16k - pap2 -ps _ 32py -papa-ps | 16p2-ps | 32ps - ps
k-pik - p2 k-pik-ps k-p1 k- p2
16k -pip2 -ps  16py -p3 16k -p3pe-ps 32p1 - psp2 - pa
k- pak - p4 k - p4 k-pik - p2 k- pak - p4
_ 32py -pap2-pa 32p1 - pap2-pa 32p2 -p3pa-pa 32p2 - py
k-pik - pa k- pok - pa k- pok - pa k-pi
L 322 16k - psp2 -ps  64pz -ps 32p1 - paps - pa
k- p2 k-pik - pa k- pa k-pik - pa
~ 32p2-pap3-ps 48p3-ps  48p3-ps 16k - pap3 - ps
k- pok - pa k-pi k- p2 k-pik - pa
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+ + - +
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+ - + —64p3 -pa ) }
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_32p3-p4+32k-p2+32k-p3+32k-p2

k- pa k- pa k- pa k- p1
L 32k-ps  32k-pspr-p2  32k-pap1-p2 | 32p1-po

k- p1 k- pak - p1 k- p2k - p1 k- p1

32k - pap1 -ps 32k -pap1-ps  32p1-ps | 64p1 - pap1 - pa
k- psk - p1 k- psk - p1 k- p1 k- pak - p1
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k- psk - p1 k- pak - p1 k- psk - p1 k-p1
_32}93'104)
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X
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+

+

+

+
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n 32p1 - p3p2 - p3 n 64(p1 - p3)’p2-pa . 32k -psp1-pap2-ps . 32k - psp1 - pap2 - pa
k- ps3 k-pik-ps3 k-pik-po k- pak - p4
64p1 - pop1 - p3p2 P4 32p1 - p3p2-pa 32p1 -p3p2 - pa | 32p1 - p3p2 - P4
- - - +
k-pik-p2 k-p1 k- p2 k- p3
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+ + - — 64ps - pa —
k- py k- py k - pa k-pik - p2
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32py - p3p3 -pa | 64p1 - popo - pap3 -pa 64py - p3pa - pap3 -ps 32K - pips - paps - pa
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k- p3k - pa )}
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PROGRAM E E Bremss MAIN

IMPLICIT NONE

REAL*8 X,TAU

REAL*8 Xini,Xfin,dX

REAL*8 Ael,Anel

REAL*8 AA,BB,CC,DTAU

INTEGER i,Iini,Ifin,II,IIfin,iX,iXfin

DIMENSION AA(2000,49),BB(2000,49),CC(2000) ,DTAU(49)
DATA DTAU/

& 1D0,2.5D0,5D0,7.5D0,10D0,25D0,40D0,50D0,
75D0,100D0,150D0,200D0,300D0,400D0,500D0,
600D0,700D0,800D0,900D0, 1000DO,
1100D0,1200D0,1300D0, 1400D0,1500D0,
1600D0,1700D0, 1800D0, 1900D0,2000D0,
2200D0,2400D0,2500D0,2800D0,3000D0,
3200D0, 3400D0, 3500D0,3800D0,4000D0,
4200D0,4400D0,4500D0,4800D0,5000D0,

& 5500D0,6000D0,6500D0,7000D0/

OPEN (10,file=’El-outl.csv’,status=’unknown’)
OPEN (20,file=’NEl-outl.csv’,status=’unknown’)
Iini=1

Ifin=1

II=0

ITfin=Ifin-Tini+1

R R

DO 200 i=Iini,Ifin
iX=0

II=II+1
TAU=DTAU (i) /511D0

Xini=1D-3

Xfin=1D-2

dX=1D-3

DO 100 X=Xini,Xfin,dX
iX=iX+1

CALL Gx(X,TAU,Ael,Anel)
AA(iX,II)=Ael

BB (iX,II)=Anel
CC(iX)=X

100 CONTINUE

dX=5D-3

Xini=1D-2+dX

Xfin=5D-2

DO 110 X=Xini,Xfin,dX
iX=iX+1

CALL Gx(X,TAU,Ael,Anel)
AA(iX,II)=Ael
BB(iX,II)=Anel
CC(iX)=X
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110 CONTINUE
200 CONTINUE

iXfin=iX

DO 310 iX=1,iXfin

WRITE(10,1000) CC(iX), (AA(iX,II),II=1,IIfin)
WRITE(20,1000) CC(iX),(BB(iX,II),II=1,IIfin)
310  CONTINUE

CLOSE(10)

CLOSE(20)

1000 FORMAT(f10.5 ,’,’, <Ifin-Iini+1>(£30.15,°,°))
END

SUBROUTINE Gx(X,TAU,Ael,Anel)

IMPLICIT NONE

REAL*8 IPS1,IPS2,K

REAL*8 x1,x2,X,XXX

REAL*8 OMEGA2,0MEGA,ROW2,R0OW

REAL*8 DE1,DK,DCON2,BESSK2

REAL*8 CON1,CON2

REAL*8 plp23,plp24,p3p44

REAL*8 ALFA,PI

REAL*8 SIGMA,TAU,DTAU,TT,IPS

REAL*8 F,F12,F21,G

REAL*8 s,t,sl,s2

REAL*8 MYUmin,MYUmax,MYU1,MYU2,MYUk,MYU

REAL*8 Fmin,Fmax,FAI,FAI1,FAI2

REAL*8 SITmax,SIT,SIT1,SIT2

REAL*8 A,B1,B2

REAL*8 XS,XT,XM,XSIT,XF

REAL*8 WS,WT,WM,WSIT,WF

REAL*8 ANS1,SUM1,Ael

REAL*8 ANS2,SUM2,Anel

REAL*8 F2,F4

REAL*8 y,J,El,yd

REAL*8 A1,A2,AA1,AA2

REAL*8 Xini,Xfin,dX

INTEGER IXO,IX1,IX2,IX3,IX4

INTEGER iNDS,iNDT,iNDM,iNDSIT,iNDF

INTEGER i,iX,Iini,Ifin

INTEGER II,IIfin
DIMENSION XS(100), WS(100),XT(100),WT(100),XM(100),WM(100),
& XSIT(100) ,WSIT(100) ,XF(100) ,WF(100)

DATA iNDS,iNDT,iNDM, iNDSIT,iNDF/60,98,98,30,30/

PI=4D0*DATAN (1D0)

ALFA=1D0/137D0

CON1=1DO

CON2=3D0/ (8DO*PI**2) *SQRT (TAU)

K=TAU*X

S1=K/TAU* (K-DSQRT (K**2+4D0*K) +3D0) / (2DO*DSQRT (K**2+4D0*K) +3D0)

CALL GAUSAB( XS, WS, ODO, 1D40, ilDS)

DO 540 IX4=1,iNDS

S=XS(IX4)

IPS=S*TAU+K+2D0
MYUk=1DO+K* ( (IPS-K) -DSQRT ( (IPS-K) *%2-4D0) )
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IF (S>=S1) THEN
TT=IPS-2D0
ELSE IF (S<S1) THEN
TT=DSQRT ( (MYUk-1DO) / (MYUk+1DO)
& * (IPS**2-2D0* (MYUk+1D0) ) )
END IF
CALL GAUSAB( XT, WT, -TT, TT, iNDT)
DO 530 IX3=1,iNDT
T=XT(IX3)

IPS1=(IPS+T)/2D0
IPS2=(IPS-T)/2D0

p1p23=DSQRT (IPS1%*2-1D0) *DSQRT (IPS2**2-1D0)
MYUmin=IPS1*IPS2-p1p23
MYUmax=IPS1*IPS2+p1p23

CALL FUNCF(MYUmin,IPS,Fmin)
CALL FUNCF (MYUmax,IPS,Fmax)

IF (K<=Fmin) THEN
MYU1=MYUmin
MYU2=MYUmax
ELSE IF (K>Fmin .AND. K<=Fmax) THEN
MYU1=MYUk
MYU2=MYUmax
ELSE IF (K>Fmax) THEN
MYU1=MYUk
MYU2=1DO+K* ( (IPS-K) +DSQRT ( (IPS-K) **x2-4D0) )
END IF

CALL GAUSAB( XM, WM, MYU1, MYU2, iNDM)
DO 520 IX2=1,iNDM
MYU=XM(IX2)

A=DSQRT (2D0* (MYU-1DO)
& * (IPS**2-2D0* (MYU+1DO) ) -2DO* (MYU+1DO) *T**2)
& / (2DO*DSQRT (IPS#**2-2D0* (MYU+1DO) ) )

B1=(IPS**2-2D0* (MYU+1D0) +IPS*T)

& / (2DO*DSQRT (IPS#**2-2D0* (MYU+1DO0)))
B2=(IPS**2-2D0* (MYU+1D0O) -IPS*T)
& / (2D0*DSQRT (IPS**2-2D0* (MYU+1DO0)))

CALL SMAX(IPS,MYU,K,SITmax)

SIT1=0D0O

SIT2=SITmax

CALL GAUSAB( XSIT, WSIT, SIT1, SIT2, iNDSIT)

DO 510 IX1=1,iNDSIT
SIT=XSIT(IX1)

FAI1=0DO

FAI2=PI/2DO

CALL GAUSAB( XF, WF, FAI1, FAI2, iNDF)
DO 500 IXO=1,iNDF

FAI=XF (IX0)
x1=K* (IPS1- (A*DSIN(SIT)*DCOS (FAI)
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& +B1xDCOS(SIT)))
x2=K* (IPS2- (-A*DSIN(SIT) *DCOS (FAI)
& +B2xDCOS (SIT)))

p1p24=IPS1*IPS2- (-A*A+B1%B2)
p3p44=plp24-x1-x2
OMEGA2=2D0* (p1p24+1D0)
ROW2=2D0* (p3p44+1D0)
OMEGA=DSQRT (OMEGA2)
ROW=DSQRT (ROW2)

CALL FUNCT(x1,x2,0MEGA2,R0W2,F12)
CALL FUNCT(x2,x1,0MEGA2,R0W2,F21)

A1=ALFA* (OMEGA2-2D0)

& /(OMEGA*DSQRT (OMEGA2-4D0))
A2=ALFA* (ROW2-2D0)

& /(ROWxDSQRT (ROW2-4D0))

AA1=2DO*PI*A1l
AA2=2DO*PI*A2

E1=A2/A1
& *((DEXP(-AA2)-DEXP (- (AA1+AA2)))
& / (DEXP(-AA1)-DEXP(-(AA1+AA2))))

F=(F12+F21)*E1*DSIN(SIT)
&  /DSQRT (2D0* (MYU+1DO-X1-X2) ) *DEXP (-S)

G=(F12+F21)*DSIN(SIT)
&  /DSQRT(2D0* (MYU+1D0-X1-X2)) *DEXP (-S)

SUM1=SUM1+F*WF (IX0)*WSIT(IX1)

& *WM (IX2)*WT (IX3) *WS (IX4)
SUM2=SUM2+G*WF (IX0) *WSIT(IX1)

& *WM (IX2)*WT (IX3) *WS (IX4)
ANS1=SUM1
ANS2=SUM2

500 CONTINUE
510 CONTINUE
520 CONTINUE
530 CONTINUE
540 CONTINUE
Ael=CON2/CON1*ANS1*K**2
& / ((2DO*TAU*DEXP (1D0O/TAU) *BESSK2 (1D0/TAU) ) **2)
Anel=CON2/CON1*ANS2*K*%2
& / ((2DO*TAU*DEXP (1D0/TAU) *BESSK2 (1D0O/TAU) ) **2)
SUM1=0D0
SUM2=0D0
RETURN
END

SUBROUTINE SMAX(IPS,MYU,K,SITmax)

IMPLICIT NONE

REAL*8 IPS,MYU,K,SITmax,SUB,PI

PI=4DO*DATAN (1D0)

SUB=(IPS- (MYU-1DO0) /K) / (DSQRT (IPS**2-2D0* (MYU+1D0)) )
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IF (SUB>=-1D0) THEN
SITmax=DABS (DACOS (SUB))
ELSE

SITmax=PI

END IF

RETURN

END

SUBROUTINE FUNCF(MYU,IPS,F)

IMPLICIT NONE

REAL*8 MYU,IPS,F

F=(MYU-1DO) / (IPS-DSQRT (IPS**2-2D0* (MYU+1D0) ))
RETURN

END

SUBROUTINE FUNCT(x1,x2,0MEGA2,R0W2,FUN)
IMPLICIT NONE

REAL*8 OMEGA,OMEGA2,ROW,ROW2
REAL*8 R1,R2

REAL*8 W2,W4

REAL*8 L,L1,L2,L3,L4

REAL*8 x,x1,x2

REAL*8 plp2,p3p4

REAL*8 IPS1

REAL*8 FUN

REAL*8 A1,A2,A3,A4,A5

x=x1+x2
ROW=DSQRT (ROW2)
OMEGA=DSQRT (OMEGA2)

R1=ROW2-4D0+4D0*x1+4D0*x1%*2/ROW2
R2=R0OW2-4D0+2D0*x1

W2=DSQRT (x2#* ((ROW2-4D0) /4D0*x2+2D0*x*x1/R0OW2) )
W4=DSQRT ( (OMEGA2-4D0) * (1D0/4D0* (OMEGA2-4D0)
&  *(ROW2-4D0)+4D0*x1%x2/ROW2))

L=DL0G (ROW/ (4DO#*x1) * (R2+DSQRT ( (ROW2-4D0) *R1)))
L1=DLOG ( (ROW+DSQRT (ROW2-4D0) ) /2D0)
L2=DLO0G (1D0O+ROW2/ (4D0*x*x1) * ( (ROW2-4D0) *x2
&  +2D0*DSQRT (ROW2-4D0) *W2))
L3=DL0G ( (OMEGA*DSQRT (ROW2-4D0)
&  +ROWxDSQRT (OMEGA2-4DO0) ) **2/ (4D0O* (OMEGA2-ROW2)) )
L4=DL0G (1DO+ROW2/ (8D0*x1*x2) * ((OMEGA2-4DO0) * (ROW2-4DO0)
&  +2D0*DSQRT (ROW2-4D0) *W4))

&DSQRT (ROW2-4D0) * ((OMEGA2+R0OW2) / (4D0*x1%x2) * ((x1-x2) /x) **2-1D0/4D0
&* (1D0/x1-1D0/x2) **2-ROW2/ (2D0*x**2) +2D0*R0W2/ ( (OMEGA2-4D0) *x1%x2)
&* (1D0+1D0/ (OMEGA2-4D0) )

&+4D0*ROW2/ (OMEGA2* (OMEGA2-4D0) #x1%*4) * (3D0* (OMEGA2-2D0) **2

&/ (OMEGA2-4D0) *x1*x2-2D0*x**2* (1D0+6D0/ (OMEGA2* (OMEGA2-4D0) )))
&-4D0*ROW2*x/ ((OMEGA2-4D0) *x1%%3)

&+ROW2/x1%%2% (4D0/0OMEGA2-3D0/2D0-8D0/ (OMEGA2* (OMEGA2-4D0) **2)

&+ (OMEGA2-2D0) *x/ (OMEGA2* (OMEGA2-4D0) ) ) ~-ROW2/ ( (OMEGA2-4DO0) *x1)
&+1D0/R1* ( (OMEGA2-4D0*x2) /ROW2-0MEGA2% (OMEGA2-4D0) / (4D0%x1%x2)
&-4D0/x1
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&+1D0/x1**2* (OMEGA2- (OMEGA2-2D0) /2D0*R0W2) ))

A2=
&+L/DSQRT (R1) * (4DO+1D0/x2% (10DO-0MEGA2/2D0) -2D0/x 1% (2D0*0OMEGA2-x2
&+4D0) +3D0*0MEGA2* (OMEGA2-4D0) / (4DO*x 1%x2)
&+4D0/ (x1*R2) * (x2-3D0*x1+4D0+2D0* (ROW2-3D0) /x1) + (OMEGA2-4D0-4D0*x1
&*x2/R0OW2) / (x1*R1) * (OMEGA2*R2/ (4D0*x2) - (ROW2-2D0) -2D0*x1) )

A3=
&+ROW*L1* ( (ROW2+2D0) /x*%*2+8D0/x1%%2) +L2/W2% (2D0* (OMEGA2-2D0) /x2
&-(ROW2-2D0-x2) /x1+(ROW2-2D0) / (2D0*x) * (ROW2+x1) + (OMEGA2-4D0) /R2
&-2D0+ (ROW2-2D0) / (8D0*x*x1) * (OMEGA2+R0OW2-4D0) #*2+1D0/ (R2#%x1)
&* ((ROW2-2D0) * ( ( (OMEGA2+R0W2) /2D0-2D0) *x2- (OMEGA2-2D0) )
&-2D0*x2%*2-4D0*x2)
&+1D0/ (R2+*x) * ( (ROW2-2D0) /2D0* (3D0* (ROW2-4D0) ~-OMEGA2* (ROW2-5D0) )
&+2D0*x1%*2-6D0*x1+ (0MEGA2-2D0) *x2) )

Ad=
&+2D0*ROW*L3/ (OMEGA*DSQRT (OMEGA2-4D0) *x1) * (4D0+8D0* (OMEGA2-2D0)
&/ (OMEGA2-4D0) **2-3D0* (OMEGA2-2D0) / (2D0*x2) +1D0/x1* (x2%*2-2D0
&*0OMEGA2- (OMEGA2-1D0) *x2+1D0/2D0% (OMEGA2-2D0) **2)
&+R0OW2/ (2D0%*x) * (ROW2-2D0) —x2/ (2D0*x) * (OMEGA2-2D0) - (OMEGA2+R0W2-4D0)
&/ (4D0*x*x2) * (OMEGA2-2D0) **2+x/ (4D0*x1*x2) * ( (OMEGA2-2D0) **2
&+ (ROW2-2D0) * (ROW2-4D0) -8D0* (ROW2-2D0) / (OMEGA2-4D0) ) +4D0*x* %2
&/ (OMEGA2* (OMEGA2-4D0) *x1) —1D0/R2# (2D0* (ROW2-2D0) *x2+ (OMEGA2-4DO0)
&*x-4D0* (OMEGA2-2D0)
&+ (8D0-ROW2) / (2D0*x1) * (OMEGA2-2D0) ) +1D0/ (x*R2) * ( (ROW2-2D0) /2D0
&* (3D0* (ROW2-4D0) ~-OMEGA2* (ROW2-5D0) ) —x1* (OMEGA2-2D0*x1+4D0) )
&+2D0/ ((OMEGA2-4D0) **2#%x1) * (OMEGA2* (OMEGA2-2D0) * (ROW2-4D0) -2D0
&* (ROW2-2D0) +4D0*ROW2/0MEGA2) +4D0* (OMEGA2-2D0) *x/ ( (OMEGA2-4D0)
&*x1%*2) * (12D0*x/ (OMEGA2* (OMEGA2-4D0) ) - (ROW2-2D0) /2D0)
&* (1D0-x/ (OMEGA2%x1)))

Ab=
&-L4/W4* (1D0+ (ROW2-2D0) / (8D0*x1*x2) * ((OMEGA2-2D0) **2+ (ROW2-2D0) **2
&-6D0* (OMEGA2+R0OW2-4D0) +16D0*x/ (OMEGA2-4DO0) )
&+2D0/ (x1*x2) * (1D0-x1-x1%%2) +1D0/ (OMEGA2-4D0) * (ROW2-4D0-8D0O
&/ (OMEGA2-4D0) ) )

FUN=A1+A2+A3+A4+A5

RETURN
END

FUNCTION besskO(x)
REAL*8 bessk0,x
CU USES bessiO
REAL*8 bessiO
DOUBLE PRECISION pi1,p2,p3,p4,p5,p6,p7,91,92,93,94,95,96,97,y
SAVE p1,p2,p3,p4,p5,p6,p7,91,92,93,94,95,96,97
DATA p1,p2,p3,p4,p5,p6,p7/-0.57721566d0,0.4227842040,0.2306975640,
*0.3488590d-1,0.262698d4-2,0.10750d-3,0.74d-5/
DATA q1,92,93,94,95,96,97/1.25331414d0,-0.7832358d-1,0.2189568d-1,
*-0.10624464-1,0.587872d-2,-0.251540d-2,0.53208d-3/
if (x.le.2.0) then
y=x*x/4.0
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bessk0=(-log(x/2.0)*bessi0(x))+(pl+y* (p2+y* (p3+y* (p4+y* (p5+y*

*(p6+y*p7))))))
else
y=(2.0/x)

bessk0=(exp(-x) /sqrt (x)) *(ql+y* (q2+y* (q3+y* (qd+y* (qb+y* (q6+y*

*q7))))))
endif
return
END

FUNCTION besskl(x)

REAL*8 besskl,x
CU USES bessil

REAL*8 bessil

DOUBLE PRECISION pi1,p2,p3,p4,p5,p6,p7,91,92,93,94,95,96,97,y

SAVE p1,p2,p3,p4,p5,p6,p7,91,92,93,94,95,96,97

DATA pi,p2,p3,p4,p5,p6,p7/1.0d0,0.15443144d0,-0.67278579d0,

*-0.18156897d0,-0.1919402d-1,-0.110404d-2,-0.4686d-4/

DATA q1,92,93,94,95,96,q7/1.25331414d0,0.23498619d0,-0.3655620d-1,

*0.1504268d-1,-0.780353d-2,0.325614d-2,-0.68245d4-3/
if (x.le.2.0) then
y=x*x/4.0

bessk1l=(log(x/2.0)*bessil(x))+(1.0/x)* (pl+y* (p2+y* (p3+y* (ph+y*

* (p5+y* (p6+y*p7))))))
else
y=2.0/x

besskl=(exp(-x)/sqrt (x))*(ql+y* (q2+y* (q3+y* (q4+y* (q5+y* (qb+y*

*q7))))))
endif
return
END

FUNCTION bessiO(x)
REAL*8 bessiO,x
REAL*8 ax

DOUBLE PRECISION pi,p2,p3,p4,p5,p6,p7,91,92,93,94,95,96,97,98,99,y

SAVE p1,p2,p3,p4,p5,p6,p7,91,92,93,94,95,96,97,98,99

DATA p1,p2,p3,p4,p5,p6,p7/1.0d40,3.5156229d0,3.089942440,
*1.2067492d0,0.2659732d0,0.360768d-1,0.45813d-2/

DATA q1,92,93,94,95,96,97,98,99/0.39894228d0,0.13285924-1,

*(0.225319d-2,-0.157565d-2,0.916281d-2,-0.2057706d4-1,0.2635537d-1,

*x-0.1647633d-1,0.392377d-2/
if (abs(x).1t.3.75) then

y=(x/3.75) **2

bessiO=pl+y* (p2+y* (p3+y* (p4+y* (pb+y* (p6+y*p7)))))
else

ax=abs (x)

y=3.75/ax

bessiO=(exp(ax)/sqrt (ax))*(ql+y* (q2+y* (q3+y* (q4+y* (q5+y* (qb+y*

*(q7+y*(q8+y*q9))))))))
endif
return
END

FUNCTION bessil(x)
REAL*8 bessil,x
REAL*8 ax

DOUBLE PRECISION pi,p2,p3,p4,p5,p6,p7,91,92,93,94,95,96,97,98,99,y
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SAVE p1,p2,p3,p4,p5,p6,p7,91,92,93,94,95,96,97,98,99

DATA p1,p2,p3,p4,p5,p6,p7/0.5d0,0.87890594d0,0.51498869d0,
*0.1508493440,0.2658733d-1,0.301532d-2,0.32411d-3/

DATA q1,92,93,94,95,96,97,98,99/0.39894228d0,-0.3988024d-1,
*-0.362018d-2,0.163801d-2,-0.1031555d-1,0.2282967d-1,-0.2895312d4-1,
*(.1787654d-1,-0.420059d-2/

if (abs(x).1t.3.75) then

y=(x/3.75) **2

bessil=x* (pl+y* (p2+y* (p3+y* (pd+y* (pb+y* (p6+y*p7))))))
else

ax=abs (x)

y=3.75/ax

bessil=(exp(ax)/sqrt (ax))*(ql+y*(q2+y* (q3+y* (q4+y* (qb+y* (q6+y*
*(q7+y*(q8+y*q9))))))))

if(x.1t.0.)bessil=-bessil

endif

return

END

C—————— bessel 00 0 k2
FUNCTION bessk2(x)
REAL*8 bessk2,x
CU USES bessk1,bessk0

REAL*8 besskl,bessk0
bessk2=2.D0*besskl (x) /x+bessk0 (x)
return
end
C

SUBROUTINE GAUSAB( X, W, A, B, NPT )

/b
Gaussian quadratures for | f(x)dx. NPT must be even & <100.

/a

Q Q Q Q Q Q

IMPLICIT REAL*8 (A-H,0-Z)

REAL*8 X(1), W(1)

REAL*8 XX, WW, C1, C2
COMMON / GAUSCM / XX(100), WW(100)

NPT2 = NPT/2

IF( A .EQ. 0. .AND. B .GT. .5E20 ) THEN
CALL GAUS(NPT,1)
DO 5 N = 1, NPT
X(N) = XX(N)
W(N) = ww(l)
5 CONTINUE
RETURN
END IF

CALL GAUS(NPT,0)
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10

20

Cc1
C2

(B-4)/2.
(B+A) /2.

DO 10 N = 1, NPT2

M = NPT2 + 1 - N

X - XX(M)*C1 + C2
W(N WW (M) *C1
CONTINUE

DO 20 N = NPT2+1, NPT
M =N - NPT2

X(N) XX(M)*C1 + C2
W () WW (M) *C1
CONTINUE

RETURN

END

Q Q Q Q Q

SUBROUTINE GAUS (NN,ITYPE)

STANDARD SETTINGS ARE: IALF=IBTA=0,0<NN<100,
ITYPE=0 : -1 TO +1 POINTS
ITYPE=1 : O TO INFINITY

IMPLICIT REAL*8 (A-H,0-Z)

DATA IALF, IBTA / 0, O /

(O 3k sk sk sk ok ok ok ok ok ok sk sk sk ok ok ok ok ok ok sk sk ok sk ok ok ok sk sk sk sk ok sk ok ok sk ok ok ok ok sk ok sk sk ok ok ok ok ok ok ok ok ok sk sk ok sk ok ok ok ok ok ok ok ok ok sk sk ok sk ok

C
C
C

GAUJAC COMPUTES GAUSS - JACOBI INTEGRATION WEIGHTS AND NODES

(O 3k sk sk sk ok ok ok ok ok ok sk sk sk ok ok ok ok ok ok sk sk ok sk ok ok ok sk sk sk sk ok sk ok ok sk ok ok ok ok sk ok sk sk ok ok ok ok ok ok ok ok ok sk sk ok sk ok ok ok ok ok ok ok ok ok sk sk ok sk ok

C

DIMENSION X(100),A(100),B(100),C(100)
DIMENSION XX(100), WW(100)
DIMENSION G(100)

COMMON/GAUSCM/XX , WW

PI=3.141592653589793238D0

ISUM=IALF+IBTA
IDIF=IBTA-IALF
FNUM=ISUM*IDIF
ALF=IALF
BTA=IBTA

CALCULATE COEFFICIENTS REQUIRED BY JACOBI

DO 20 I=1,100

I2=I+I

IM=I-1
DEN=(ISUM+I2) * (ISUM+I2-2)
IF(ISUM.EQ.0) GO TO 67
B(I)=FNUM/DEN

GO TO 68

175



67 B(I)=0.DO

68 FNUMP=4%IM* (IALF+IM)* (IBTA+IM) * (ISUM+IM)
DENP= (ISUM+I2-1)* (ISUM+I2-2) *x*2% (ISUM+I2-3)
IF(((ISUM.EQ.0).0R. (ISUM.EQ.1)) .AND.(I.EQ.1)) GO TO 69
C(I)=FNUMP/DENP
GO TO 20

69 C(1)=0.D0

20 CONTINUE

C _______________________________________________________________________
C For outputting quadratures
c _______________________________________________________________________
c TYPE 34
c34 FORMAT (1X, ’FILENAME FOR INTERMEDIATE RESULTS =? (A10)’)
c ACCEPT 35,FNAMX
C35 FORMAT (A10)
c OPEN (UNIT=3,FILE=FNAMX,STATUS=’"NEW’)
c _______________________________________________________________________
CALL JACOBI(NN,X,G,ALF,BTA,B,C,EPS,CSX,CSA,TSX,TSA)
c _______________________________________________________________________
C For outputting quadratures
C _______________________________________________________________________
c TYPE 70
C70 FORMAT (1X, ’OUTPUT FILENAME 7 (A10)’)
c ACCEPT 71,FNAM
c71 FORMAT (A10)
c OPEN (UNIT=7,FILE=FNAM, STATUS="NEW’)
c _______________________________________________________________________
c OUTPUT DATA STATEMENT OF WEIGHTS AND NODES
c
IF(ITYPE.EQ.0) GO TO 130
DO 100 I=1,NN
II=NN+1-I
c XX(I)=(1.0D+00+X(II))/(1.0D+00-X(II))
c WW(I)=2.0D+00*G(II)/((1.0D+00-X(II))** (IALF+2)x*
c 1 (1.0D+00+X (II))**IBTA)
ZZ=PI*(1.0D+00+X(II))/4.0D+00
XX(I)=SIN(ZZ)/C0S(ZZ)
WW(I)=G(II)*PI*0.25D+00/(COS(0.25D+00*PI*(1.0D+00
1 +X(II)))**2)
C _______________________________________________________________________
¢ WRITE(7,120)I,I,XX(I),WW(I)
120  FORMAT (6X,6HDATAX(,I2,6H,M),W(,I2,4H,M)/,D22.15,1H,,
1 D22.15,1H/)
C _______________________________________________________________________

100  CONTINUE
RETURN

130 CONTINUE
NI=NN/2
DO 140 I=1,NI
II=NI+1-I
XX(I)=X(II)
WW(I)=G(II)
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C

CONTINUE

RETURN

END

SUBROUTINE JACOBI(NN,X,A,ALF,BTA,B,C,EPS,CSX,CSA,TSX,TSA)
IMPLICIT REAL*8 (A-H,0-Z)

(O 3k sk sk sk ok ok ok ok ok ok sk sk sk ok ok ok ok ok ok sk sk ok sk ok ok ok sk sk sk sk ok sk ok ok sk ok ok ok ok sk ok sk sk ok ok ok ok ok ok ok ok ok sk sk ok sk ok ok ok ok ok ok ok ok ok sk sk ok sk ok

Qa0

CALCULATES THE ZEROS X(I) OF THE NN-TH ORDER JACOBI POLYNOMIAL
PN(ALF,BTA) FOR THE SEGMENT (-1,1)
THE LARGEST ZERO WILL BE STORED IN X(1).
ALSO CALCULATES THE CORRESPONDING COEFFICIENTS A(I) OF THE
NN-TH ORDER GAUSS-JACOBI QUADRATURE FORMULA OF DEGREE 2%NN-1.
THIS SUBROUTINE MUST BE GIVEN THE COEFFICIENTS:

(ALF+BTA) (BTA-ALF)

(ALF+BTA+2N) (ALF+BTA+2N-2)

4(N-1) (ALF+N-1) (BTA+N-1) (ALF+BTA+N-1)

(ALF+BTA+2N-1) (ALF+BTA+2N-2) **2 (ALF+BTA+2N-3)

IN THE RECURSION RELATION

P(N) = (X-B(N))#*P(N-1)-C(N)*P(N-2)

FOR ALL N LESS THAN OR EQUAL TO THE HIGHEST DEGREE NN.

CSX
CSA

CALC SUM X(I) TSX
CALC SUM A(I) TSA

TRUE SUM X(I)
TRUE SUM A(I)
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C

DIMENSION X(100),A(100),B(100),C(100)
FN=NN
CSX=0.D0
CSA=0.D0
BETA=EXP (FLGAMA (ALF+1.D0) +FLGAMA (BTA+1.D0) -FLGAMA (ALF+BTA+2.D0) )
CC=2.x* (ALF+BTA+1.)*BETA
TSX=FN* (BTA-ALF) / (ALF+BTA+2. *FN)
TSA=CC
DO 1 J=2,NN
CC=CC*C(J)
DO 12 I=1,NN
IF(I-1)12,2,3
LARGEST ZERO
AN=ALF/FN
BN=BTA/FN
R1=(1.DO+ALF) * (2.78/ (4.+FN*FN) +.768*AN/FN)
R2=1.D0+1.48*AN+.96%BN+.452*AN*AN+ . 83%AN*BN
XT=1.D0-R1/R2
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GO TO 11

3 IF(I-2)12,4,5
¢ SECOND ZERD
4 R1=(4.1+ALF)/((1.+ALF)*(1.+.156%ALF))

R2=1.D0+.06* (FN-8.)*(1.DO+.12*ALF) /FN
R3=1.D0+.012*BTA* (1.D0O+.25%ABS (ALF)) /FN
RATIO=R1*R2*R3

XT=XT-RATIO#*(1.DO-XT)

GO TO 11
5 IF(I-3) 12,6,7
THIRD ZERO
6 R1=(1.67+.28%ALF)/(1.D0+.37*ALF)

R2=1.D0+.22*(FN-8.D0) /FN
R3=1.D0+8.*BTA/ ((6.28D0+BTA) *FN*FN)
RATIO=R1*R2*R3
XT=XT-RATIO* (X (1)-XT)

GO TO 11
7 IF(NN-I-1)10,9,8
¢ MIDDLE ZEROS
8 XT=3.%X(I-1)-3.*X(I-2)+X(I-3)
GO TO 11
c SECOND LAST ZERD
9 R1=(1.D0+.235+BTA)/ (.766D0+.119%BTA)

R2=1./(1.D0+.639* (FN-4.D0) /(1.D0+.71*(FN-4.D0)))
R3=1./(1.D0+20.*ALF/ ((7.5D0+ALF) *FN*FN) )
RATIO=R1*R2*R3
XT=XT+RATIO* (XT-X(I-2))
GO TO 11

c LAST ZERO

10 R1=(1.DO0+.37*BTA)/(1.67D0+.28*BTA)
R2=1./(1.D0+.22%(FN-8.D0) /FN)
R3=1./(1.D0+8.*ALF/ ((6.28D0+ALF) *FN*FN) )
RATIO=R1*R2*R3
XT=XT+RATIO* (XT-X(I-2))

c
11 CALL GSROOT (XT,NN,ALF,BTA,DPN,PN1,B,C,EPS)
X(I)=XT
A(I)=CC/ (DPN*PN1)
C _______________________________________________________________________
c WRITE(3,20)ALF,BTA,NN,I,XT,A(I)
C _______________________________________________________________________

CSX=CSX+XT
CSA=CSA+A(I)
12 CONTINUE

C WRITE(3,22)CSX,CSA,TSX,TSA

20 FORMAT (1X,2F6.2,213,2(1X,D26.18) ,1X, (1X,D26.18))

22 FORMAT (1HO,/,5X,’CSX =’,D25.18,5X,’CSA =’,D25.18,/,
1 bX,’TSX =’,D25.18,5X,’TSA =’,D25.18)

c _______________________________________________________________________
RETURN
END
SUBROUTINE GSROOT (X,NN,ALF,BTA,DPN,PN1,B,C,EPS)
IMPLICIT REAL*8 (A-H,0-Z)
C
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IMPROVES THE APPROXIMATE ROOT X
IN ADDITION WE ALSO OBTAIN:
DPN = DERIVATIVE OF P(N) AT X
PN1 = VALUE OF P(N-1) AT X
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C

C

DIMENSION B(100),C(100)

ITER=0

ITER=ITER+1

CALL RECR(P,DP,PN1,X,NN,ALF,BTA,B,C)
D=P/DP

X=X-D

IF(ABS(D)-EPS)3,3,2
IF(ITER-10)1,3,3

DPN=DP

RETURN

END

SUBROUTINE RECR(PN,DPN,PN1,X,NN,ALF,BTA,B,C)
IMPLICIT REAL*8 (A-H,0-Z)

DIMENSION B(100),C(100)
P1=1.D0
P=X+(ALF-BTA) / (ALF+BTA+2.D0)
DP1=0.D0
DP=1.D0
DO 1 J=2,NN
Q=(X-B(J))*P-C(J)*P1
DQ=(X-B(J)) *DP+P-C(J) #*DP1
P1=P
P=Q
DP1=DP
DP=DQ

CONTINUE
PN=P
DPN=DP
PN1=P1
RETURN
END

FUNCTION FLGAMA (W)
IMPLICIT REAL*8 (A-H,0-Z)
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CALCULATES LOG(BASE E)GAMMA (W) FOR W REAL AND GAMMA(W) POSITIVE.
USES STIRLING’S APPROXIMATION
ACCURATE TO ABOUT 12 SIGNIFICANT PLACES
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C

PI=3.141592653589793238D0

X=W

M=0

FK=-1.DO

IF(X-.5D0)1,1,2
W LESS EQ .5
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11

M=1
XPI=X*PI
X=1.D0-X
FK=FK+1.DO
IF (X+FK-6.D0)2,2,3
Z=X+FK
ZZ=7x7.
LOG GAMMA(Z), Z GREATER 6.
Y=(Z-.5)*L0G(Z)-Z+.9189385332047+ (((((((-10861851./7Z
1 +2356200.) /ZZ-704820.) /ZZ+309400.) /ZZ-218790.) /ZZ
2 +291720.)/2Z-1021020.) /ZZ+30630600.) /Z/367567200.
IF(FK)6,6,4
IK=FK
DO 5 I=1,IK
FK=FK-1.
Y=Y-L0G (X+FK)
IF(M)7,11,7
P=PI/SIN(XPI)
IF(P)8,8,10
WRITE(6,9)W
FORMAT (2X ,6HGAMMA (D11.4,13H) IS NEGATIVE)
Y=0.
GO TO 11
Y=L0G(P)-Y
FLGAMA=Y
RETURN
END
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Emissivity 0 PPROO0OO0O0O0O0O MainOODOOOOOOODOODOOOOODODOODOOO
goboobooobooboooobooonbooo

PROGRAM E E Bremss MAIN

IMPLICIT NONE

REAL*8 X,TAU

REAL*8 Xini,Xfin,dX

REAL*8 Ael,Anel

REAL*8 AA,BB,CC,DTAU

REAL*8 XX,WX,SUM1,SUM2

INTEGER i,Iini,Ifin,II,IIfin,iX,iXfin
INTEGER iNDX,IXO

DIMENSION XX(98),WX(98)

DIMENSION AA(2000,49),BB(2000,49),CC(2000) ,DTAU(49)
DATA DTAU/

& 1D0,2.5D0,5D0,7.5D0,10D0,25D0,40D0,50D0,
75D0,100D0,150D0,200D0,300D0,400D0,500D0,
600D0,700D0,800D0,900D0, 1000D0,
1100D0,1200D0,1300D0, 1400D0, 1500D0,
1600D0,1700D0, 1800D0, 1900D0,2000D0,
2200D0,2400D0,2500D0,2800D0,3000D0,
320000, 3400D0,3500D0,3800D0,4000D0,
4200D0,4400D0,4500D0,4800D0,5000D0,

& 5500D0,6000D0,6500D0, 7000D0/

OPEN (10,file=’El-outl.csv’,status=’unknown’)
OPEN (20,file=’NEl-outl.csv’,status=’unknown’)

PR R

Iini=1
Ifin=1
iNDX=72

DO 200 i=Iini,Ifin
TAU=DTAU (i) /511D0

CALL GAUSAB( XX, WX, ODO, 1D40, iNDX)
DO 100 IX0=1,iNDX
X=XX(IX0)

iX=iX+1

CALL Gx(X,TAU,Ael,Anel)
SUM1=SUM1+Ael*DEXP (-X) *WX (IX0)
SUM2=SUM2+Anel*DEXP (-X) *WX (IX0)
100 CONTINUE

AA(i)=SUM1

BB (i)=SUM2

200 CONTINUE

DO 310 II=Iini,Ifin
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TAU=DTAU(II)/511DO

WRITE(10,1000) TAU, (AA(i),i=Iini,Ifin)
WRITE(20,1000) TAU, (BB(i),i=Iini,Ifin)
310  CONTINUE

CLOSE(10)

CLOSE(20)

1000 FORMAT(f10.5 ,’,’, £30.15,7,7)
END
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PROGRAM MAIN

implicit real*8 (a-h, o-z)

Write (¥, %) ) ———mmm )

write(*,*) ’Dimensionless Inputs:’

write(*,*)’tau = kBT/mc"2 (50eV < kBT) : the electron
&thermal energy in units of the electron rest mass’
write(*,%)’ x = k/tau (107-4 < x < 10) : k is the photon energy in

gunits of the electron rest mass’
write(*, %)’ —————————— ’
100 write(*,*)’tau, x = ?°

read (*,*) tau, x
CALL FUNCFx(X,TAU,Peefit)

write(*,%) ’Peefit(x,tau) =’ Peefit
write (*, %) 2 —————— e ’
GOTO 100

END

SUBROUTINE FUNCFx(X,TAU,Peefit)
IMPLICIT REAL*8 (A-Z)
data pi, emass/ 3.141592654d0, 510.998902d0/

IF (TAU.ge.(0.05D0/emass).and.TAU.1t. (1DO/emass)) THEN
G=GI(x,tau)

ELSE IF (TAU.ge.(1DO/emass).and.TAU.1t.(300D0/emass)) THEN
G=GII(x, taud)*FCC(x, tau)

ELSE IF (TAU.ge.(300D0/emass) .and.TAU.le.(7000D0/emass)) THEN
G=GIII(x, tau)

ELSE IF (TAU.gt.(7000D0/emass)) THEN

G=GIV(x, tau)

END IF

Peefit=1.455D-16*DEXP (-X) /X/DSQRT (TAU) *G

RETURN
END

CCCCCCLeeeceerceeeceeeeeeceeeceeeceeecececceeececececeecceeccececceeccecccccececccecccccecccccce
Function GI(x, tau) returns the fitting function of Pee(x,tau).
GI(x, tau) = DSQRT( 8DO / (3DO*PI) ) * Jfit

inputs: 50eV < tau < 1keV  (tau = KbT/mc"~2)

QO

CThis analytic fitting formula was obtained by Itoh, Kawana & Nozawa (2002a).
C
Cccceeeceecececcececceeceecceececececececeeccceccecceceeecceceeccceceecccececececceccee
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REAL FUNCTION GI#*8(X,TAU)
implicit real*8(a-z)
real a(1:121)
data a/
3.15847D0 , 2.46819D-2, -2.11118D-2, 1.24009D-2,

-5.41633D-3, 1.70070D-3, -3.05111D-4, -1.21721D-4,
1.77611D-4, -2.05480D-5, -3.58754D-5,

-2.52430D0 , 1.03924D-1, -8.53821D-2, 4.73623D-2,

-1.91406D-2, 5.39773D-3, -7.26681D-4, -7.47266D-4,
8.73517D-4, -6.92284D-5, -1.80305D-4,
4.04877D-1, 1.98935D-1, -1.52444D-1, 7.51656D-2,

-2.58034D-2, 4.13361D-3, 4.67015D-3, -2.20675D-3,

-2.67582D-3, 2.95254D-5, 1.40751D-3,
6.13466D-1, 2.18843D-1, -1.45660D-1, 5.07201D-2,

-2.23048D-3, -1.14273D-2, 1.24789D-2, -2.74351D-3,

-4.57871D-3, -1.70374D-4, 2.06757D-3,
6.28867D-1, 1.20482D-1, -4.63705D-2, -2.25247D-2,
5.07325D-2, -3.23280D-2, -1.16976D-2, -1.00402D-3,
2.96622D-2, -5.43191D-4, -1.23098D-2,
3.29441D-1, -4.82390D-2, 8.16592D-2, -8.17151D-2,
5.94414D-2, -2.19399D-2, -1.13488D-2, -2.38863D-3,
1.89850D-2, 2.50978D-3, -8.81767D-3,

-1.71486D-1, -1.20811D-1, 9.87296D-2, -4.59297D-2,

-2.11247D-2, 1.76310D-2, 6.31446D-2, -2.28987D-3,

-8.84093D-2, 4.45570D-3, 3.46210D-2,

-3.68685D-1, -4.46133D-4, -3.24743D-2, 5.05096D-2,

-5.05387D-2, 2.23352D-2, 1.33830D-2, 7.79323D-3,

-2.93629D-2, -2.80083D-3, 1.23727D-2,

-7.59200D-2, 8.88749D-2, -8.82637D-2, 5.58818D-2,
9.20453D-3, -4.59817D-3, -8.54735D-2, 7.98332D-3,
1.02966D-1, -5.68093D-3, -4.04801D-2,
1.60187D-1, 2.50320D-2, -7.52221D-3, -9.11885D-3,
1.67321D-2, -8.24286D-3, -6.47349D-3, -3.80435D-3,
1.38957D-2, 1.10618D-3, -5.68689D-3,
8.37729D-2, -1.28900D-2, 1.99419D-2, -1.71348D-2,

-3.47663D-3, -3.90032D-4, 3.72266D-2, -4.25035D-3,

$ -4.22093D-2, 2.33625D-3, 1.66733D-2/

data pi, emass/ 3.141592654d40, 510.998902d40/

P H O B PO P P PO PO P P PO PO PO P P PO PO P P P PO PO P P PO L P P L L P

logth=L0G10 (TAU)
log u=L0G10(X)

the
u

(logth+2.65)/1.35
(logu+1.50)/2.50

jfit =(A(1)+A(2)*the+A(3) *thex*2+A(4)*the**3+A(5) xthe*x4

* +A (6) *thex*5+A (7) *the**6+A (8) *the**7

* +A (9) *the*x*8+A (10) *the**9+A (11) *the**10)

* +(A(12)+A(13) *the+A(14) *the**2+A (15) ¥the**3+A (16) *the**4
* +A (17) *thex*5+A (18) *the**6+A (19) *the**7

* +A (20) *the*x*8+A (21) *the**9+A (22) *the**10) *u

* +(A(23)+A(24) *the+A(25) *the**2+A (26) *the**3+A (27) *the**4
* +A (28) *thex*5+A (29) *the**6+A (30) *the**7

* +A (31) *thex*8+A (32) *the**9+A (33) *the**10) *u** (+2)
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+(A(34)+A(35) *the+A(36) *the**2+A (37) *the**3+A (38) *the**4
+A (39) *the**5+A (40) *the**6+A (41) *the**7
+A (42) *the**8+A (43) *the**9+A (44) *the**10) *u** (+3)

+(A(45)+A(46) *the+A(47) *the**2+A (48) ¥the**3+A (49) *the**4
+A (50) *the**5+A (51) *the**6+A (52) *the**7
+A (53) *the**8+A (54) *the**9+A (55) *the**10) *u** (+4)

+(A(56)+A(57) *the+A(58) *the**2+A (59) *the**3+A (60) *the**4
+A(61) *the**5+A (62) *the**6+A (63) *the**7
+A (64) *the**8+A (65) *the**9+A (66) *the**10) *u** (+5)

+(A(67)+A(68) *the+A(69) *the**2+A (70) ¥thex*3+A(71) *the**4
+A (72) *thex*5+A (73) *the**6+A (74) *the**7
+A (75) *the**8+A (76) *the**9+A (77) *the**10) *u** (+6)

+(A(78)+A(79) *the+A(80) *the**2+A (81) *the**3+A (82) *the**4
+A (83) *thex*5+A (84) *the**6+A (85) *the**7
+A (86) *the**8+A (87) *the**9+A (88) *the**10) *u** (+7)

+(A(89)+A(90) *the+A(91) *the**2+A (92) *the**3+A (93) *the**4
+A (94) *thex*5+A (95) *the**6+A (96) *the**7
+A (97) *the**8+A (98) *the**9+A (99) *the**10) *u** (+8)

+(A(100)+A(101) *the+A (102) *the*x*2+A (103) *the**3+A (104) *the**4
+A (105) *the*x*5+A (106) *the**6+A (107) *thex*7
+A (108) *the**8+A (109) *the**9+A (110) *the**10) *u*xx* (+9)

+(A(111) +A(112) *the+A(113) *the**2+A(114) *the**3+A (115) *the**4
+A(116) *thex*5+A (117) *the**6+A (118) *thex*7
+A(119) #the**8+A (120) *the**9+A (121) *the**10) *u** (+10)

GI=DSQRT(8D0/(3D0*PI))*jfit

return
end

CCCCccceecceeceecceeceecceeceecceecceecceeceeeccecceecceecceeccecccecccec

Qa0

Function GII(x, tau) returns the fitting function of Pee(x,tau).

GII(x, tau) = AA2%x"2 + AAlxx + AAO*x
- EXP(x) * Ei(-x) * ( BBl*x + BBO*x )

AA2(tau) = A2(0) + A2(1)*tau~(1/8) + A2(2)*tau~(2/8) + A2(3)*tau"(3/8)
+ A2(4)*tau”~(4/8) + A2(5)*tau~(5/8) + A2(6)*tau~(6/8)
+ A2(7)*tau~(7/8) + A2(8)*tau~(8/8)

Same function forms for AA1(tau), AAO(tau), BB1(tau) and BBO(tau).

inputs: 1keV < tau < 300keV (tau = KbT/mc~2)

CCCCccceecceeceecceeceecceeceecceecceecceeceeeccecceecceecceeccecccecccec

real function GII*8(x, tau)
implicit real*8 (a-h, o-z)
real*8 A2(0:8), A1(0:8), A0(0:8), B1(0:8), B0(0:8)

data pi, emass/ 3.141592654d0, 510.998902d0/
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data A2/ 0.9217DO0, -13.4988D0, 76.4539D0, -217.8301DO,

& 320.9753D0, -188.0667D0, -82.4161D0,  163.7191DO0,
& -60.0248D0/

data A1/ -9.3647D0, 95.9186D0, -397.0172D0,  842.9376DO0,
& -907.3076D0,  306.8802D0,  291.2983D0, -299.0253D0,
& 76.3461D0/

data AO/ -37.3698D0, 380.3659D0, -1489.8014D0, 2861.4150D0,
& -2326.3704D0, -691.6118D0, 2853.7893D0, -2040.7952D0,
& 492.5981D0/

data B1/ -8.6991D0, 63.3830D0, -128.8939D0, -135.0312D0,
& 977.5838D0, -1649.9529D0, 1258.6812D0, -404.7461DO0,
& 27.3354D0/

data BO/ -11.6281D0, 125.6066D0, -532.7489D0, 1142.3873DO0,
& -1156.8545D0, 75.0102D0, 996.8114D0, -888.1895D0,
& 250.1386D0/

AA2=0D0

AA1=0DO

AAO=0DO

BB1=0D0

BB0=0DO

CALL FUNCE(X,Ei)

do 10i =0, 8

AA2 = AA2 + A2(i)*tau**(i/8.d0)

AAL = AA1l + A1(i)*tau**(i/8.d0)

AAO = AAOQ + AO(i)#*taux*(i/8.d0)

BB1 = BB1 + B1(i)#*taux*(i/8.d0)

BBO = BBO + BO(i)*taux*(i/8.d0)
10 continue

GII=AA2%X**2+AA1*X+AAO-DEXP (X) *Ei* (BB1*X+BBO0)

return
end

CCCCCcreeeeerceeeceeceeeceeceececcecceeccececceecceecececceeccecccecccecccecceccceccceccce
Function GIII(x, tau) returns the fitting function of Pee(x,tau).

GIII(x, tau) = AA2*x"2 + AAlxx + AAO*x
- EXP(x) * Ei(-x) * ( BBl*x + BBO*x )

AA2(tau) = A2(0) + A2(1)*tau~(1/8) + A2(2)*tau~(2/8) + A2(3)*tau"(3/8)
+ A2(4)*tau”~(4/8) + A2(5)*tau~(5/8) + A2(6)*tau~(6/8)
+ A2(7)*tau~(7/8) + A2(8)*tau~(8/8)

Same function forms for AA1(tau), AAO(tau), BB1(tau) and BBO(tau).

inputs: 300keV < tau < 7MeV (tau = kBT/mc"2)

QO a0

CCCCccceecceeceecceeceecceeceecceecceecceeceeeccecceecceecceeccecccecccec

real function GIII*8(x, tau)
implicit real*8 (a-h, o-z)
real*8 A2(0:8), A1(0:8), A0(0:8), B1(0:8), B0(0:8)
data pi, emass/ 3.141592654d40, 510.998902d40/
data A2/ 64.7512D0, -213.8956D0, 174.1432D0, 136.5088D0,
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& -271.4899D0, 89.3210D0, 58.2584D0, -46.0807D0,

& 8.7301D0/

data A1/ 49.7139D0, -189.7746DO, 271.0298D0, -269.7807D0,
& 420.4812D0, -576.6247D0, 432.7790D0, -160.5365D0,
& 23.3925D0/

data A0/ 52.1633D0, -257.0313DO, 446.8161D0, -293.0585D0,
& 0.0000D0, 77.0474DO0, -23.8718D0, 0.0000D0,
& 0.1997D0/

data B1/  376.4322D0, -1223.3635D0, 628.6787D0, 2237.3946D0,
& -3828.8387D0, 2121.7933D0, -556.1667D0, -349.4321D0,
& 92.2059D0/

data B0/ -8.5862D0, 34.1348D0, -116.3287DO, 296.5451D0,
& -393.4207D0, 237.5497D0, -30.6000D0, -27.6170D0,
& 8.8453D0/

AA2=0DO

AA1=0DO

AAO=0DO

BB1=0DO

BB0=0DO

CALL FUNCE(X,Ei)
do 10i =0, 8
AA2 = AA2 + A2(i)#*taux*(i/8.d0)
AAL = AA1l + A1(i)*tau**(i/8.d0)
AAO = AAO + AO(i)*tau**(i/8.d0)
BB1 = BB1 + B1(i)#*taux*(i/8.d0)
BBO = BBO + BO(i)*taux*(i/8.d0)
10 continue

GIII=AA2*X**2+AA1%X+AAO-DEXP (X) *Ei* (BB1*X+BBO)

return

end
CCCccceeeeeeeceeeececceeeecceeecceeeccceeeccceeeeccceeeccccceccceecccecceccceccece

Function GIV(x, tau) returns
the extreme-relativistic approximation of Pee(x,tau).

inputs: 7MeV < tau (tau = kBT/mc"2)

QaaQaaaaaQQ

CThis extreme-relativistic approximation was obtained by Alexanian (1968).
C
[deodedededdeddddodedededdedddddddddeddddededdddeddededdededdededededededes

REAL FUNCTION GIV*8(X,TAU)

IMPLICIT REAL*8 (A-Z)

data pi, emass/ 3.141592654d0, 510.998902d0/
GAM=DEXP (0.5772156649D0)

CON1=3D0/ (4DO*PI*SQRT (TAU))
A1=28D0/3D0+2D0*X +X**2/2D0
A2= 8D0/3D0+4D0/3D0*X+X**2

A3= 8D0/3D0-4D0/3D0*X+X**2
CALL FUNCE(X,Ei)

Fx=A1+2D0*A2*DL0G (2D0*TAU/GAM) -DEXP (X) *Ei*A3
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GIV=CON1*Fx
RETURN
END

CcCcceceeeeeeceecceeeceeceecceecceecceecceeceecceecceccceecccecccecceccceccce

C

c Function FCC(x, tau) returns the fitting function of

C the Colomb correction with the use of the Elwert factor.

C

C FCC(x, tau) = 1 + p(tau)*x~(2/8) + q(tau)*x"(3/8)

c + r(tau)*x~(4/8) + s(tau)*x~(5/8)

C + t(tauw)*x~(6/8)

C

c p(tau) = pO/sqrt(tau) + pl*tau~(1/6) + p2*tau”(2/6) + p3xtau”(3/6)
C + p4*tau”(4/6) + pb*tau”(5/6)

C

C Same function forms for q(tau), r(tau), s(tau) and t(tau).
C

C inputs: 1keV < tau < 300keV (tau = kBT/mc"~2)

C 107-4 < x < 10 (x = kc/tau)

C

CcCcceceeeeeeceecceeeceeceecceecceecceecceeceecceecceccceecccecccecceccceccce

real function FCC*8(x, tau)

implicit real*8 (a-h, o-z)

real*8 p(0:6), q(0:6), r(0:6), s(0:6), t(0:6)
data pi, emass/ 3.141592654d0, 510.998902d0/

data p/ -5.7752D0, 46.2097D0, -160.7280D0,
* 305.0070D0, -329.5420D0, 191.0770D0, -46.2718D0/
data q/ 30.5586D0, -248.2177DO0, 874.1964D0,
* -1676.9028D0, 1828.8677D0, -1068.9366D0, 260.5656D0/
data r/ -54.3272D0, 450.9676D0, -1616.5987DO0,
* 3148.1061D0, -3478.3930D0, 2055.6693D0, -505.6789D0/
data s/ 36.2625D0, -310.0972D0, 1138.0531DO0,
* -2260.8347D0, 2541.9361D0, -1525.2058D0, 380.0852D0/
data t/ -8.4082D0, 74.7925D0, -282.9540D0,
* 576.3930D0, -661.9390D0, 404.2930D0, -102.2330D0/
ptau =0DO
qtau =0D0O
rtau =0D0O
stau =0D0
ttau =0DO

do 10 i =0, 6

ptau = ptau + p(i)*tau**(i/6.d0)

q(i)*taux*(i/6.d40)

r(i)*taux*(i/6.d0)

stau = stau + s(i)*taux*(i/6.d0)

ttau = ttau + t(i)*tau*x*(i/6.40)
10 continue

qtau = qtau

+

+
rtau = rtau +
+

FCC = 1.d0 + ptauxx*x(2.d0/8.d0) + qtau*x**(3.40/8.40)
* + rtau*xx#*#%(4.d40/8.d0) + stau*x**(5.d0/8.d0)
* + ttauxx**(6.40/8.d0)

return
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end

SUBROUTINE FUNCF(Ifin,N)
IMPLICIT NONE

REAL*8 N,I,Ifin

N=1DO

DO 10 I=1DO,Ifin

N=N*TI

10 CONTINUE

RETURN

END

SUBROUTINE FUNCE(X,Ei)
IMPLICIT NONE
REAL*8 ANS,Ei,GAM
REAL*8 T1,T2
REAL*8 A1,A2,A3
REAL*8 X,T,F
REAL*8 M,N
REAL*8 XT,WT
INTEGER iNT,IXT
DIMENSION XT(20),WT(20)
DATA GAM / 0.57721566490153286060D0 /
DATA XT /0.005396838D0,0.028303937D0,0.069040301D0,0.127034037D0,

& 0.201908993D0,0.293890939D0,0.404249262D0,0.535818423D0,
& 0.693715292D0,0.886478749D0,1.128058627D0,1.44151356D0 ,
& 1.866303878D0,2.473721274D0,3.402622768D0,4.952726389D0,
& 7.871906009D0,14.48429371D0,35.33077428D0, 185.2936858D0/

DATA WT /0.013834412D0,0.031913834D0,0.049457133D0,0.066460888D0,
& 0.083319379D0,0.100847649D0,0.120329957D0,0.143643116D0,
& 0.173542463D0,0.214251752D0,0.272638839D0,0.360614529D0,
& 0.500321925D0,0.736334738D0,1.167598113D0,2.043782594D0,
& 4.118375485D0,10.37584757D0,39.8368777D0 ,474.9872281D0/

ANS=0D0

A1=0D0

A3=0D0

IF (X.le.1DO) THEN

A1=GAM

A2=DL0G (X)

DO 110 M=1DO0,18D0
CALL FUNCF(M,N)
A3=A3+(-X) **M/ (N*M)
110 CONTINUE
ANS=A1+A2+A3
Ei=ANS

ELSE

iNT=20

T1=0D0

T2=1D30

DO 100 IXT=1,iNT
T=XT (IXT)
F=DEXP (-T) / (T+X)
ANS=ANS+F*WT (IXT)
100 CONTINUE
Ei=-DEXP (-X) *ANS
END IF
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RETURN
END
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0 OG EmissivityFitting OO0 00O O

PROGRAM MAIN
implicit real*8 (a-h, o-z)

write(* %)’ ————————— ’
write(*,*) ’Dimensionless Input:’
write(*,%)’tau = kBT/mc~2 (50eV < kBT) : the electron

&thermal energy in units of the electron rest mass’
write(* %)’ ————————— ’
100 write(*,*)’tau = 7’

read (*,*) tau
CALL FUNCFx(TAU,Weefit)

write(*,*) ’Weefit =’ Weefit
write (*, %) —————— e ’
GOTO 100

END

SUBROUTINE FUNCFx(TAU,Weefit)
IMPLICIT REAL*8 (A-Z)
data pi, emass/ 3.141592654d0, 510.998902d0/

IF (TAU.ge.(0.05D0/emass).and.TAU.1t. (1DO/emass)) THEN
G=GI(tau)

ELSE IF (TAU.ge.(1DO/emass).and.TAU.1t.(300D0/emass)) THEN
G=GII(tau)

ELSE IF (TAU.ge.(300D0/emass) .and.TAU.le.(7000D0/emass)) THEN
G=GIII(tau)

ELSE IF (TAU.gt.(7000D0/emass)) THEN

G=GIV(tau)

END IF

Weefit=1.192D-22*DSQRT (TAU) **3*G

RETURN
END

CcCcceceeeeeeceecceeeceeceecceecceecceecceeceecceecceccceecccecccecceccceccce
Function GI(tau) returns the fitting function of Wee(x,tau).
GI(x, tau) = DSQRT( 8DO / (3DO*PI) ) * Jfit

inputs: 50eV < tau < lkeV  (tau = KbT/mc"2)

Qoo

CThis analytic fitting formula was obtained by Itoh, Kawana & Nozawa (2002a).
C
CCCCceeeeeceececececcececeececececeececececcecececececececcececccecccccecccccccccecce
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REAL FUNCTION GI*8(TAU)
IMPLICIT REAL*8 (A-Z)
real*8 b(1:11)

data b/

$ 2.21564D0 , 1.83879D-1,-1.33575D-1, 5.89871D-2,
$ -1.45904D-2,-7.10244D-4, 2.80940D-3,-1.70485D-3,
$ 5.26075D-4, 9.94159D-5,-1.06851D-4/

data pi, emass/ 3.141592654d0, 510.998902d0/

logth=L0G10 (TAU)

theta=(logth+2.65d0)/1.35d0

jfit= b( 1)
+b( 2)*theta
+b( 3)*theta**
+b( 4)*thetak*
+b( 5)*theta**
+b( 6)*theta**
+b( 7)*theta**
+b( 8)*theta**
+b( 9)*theta** 8d0
+b(10) *theta** 9d0
+b(11) *theta**10d40

2d0
3d0
4d0
5d0
6d0
7d0

*
*
*
*
*
*
*
*
*
*
GI=DSQRT(8D0/ (3DO*PI)) *jfit

return
end

CcCcceceeeeeeceecceeeceeceecceecceecceecceeceecceecceccceecccecccecceccceccce

GII(tau) = GO+G1+G2

G1=G1+GAM *AA(i)*CC(j)
G2=G2+GAM/Z*BB (i) *CC(j)
GAM is FUNCTION of GAMMA :

sum for i=
sum for i=

Function GII(tau) returns the fitting function of Wee(x,tau).

GO=2D0*AA (2)+AA (1) +AA(0)+0.5D0*BB (1) +BB(0)

0 to 8, j= 2 to 6
0 to 8, j= 2 to 6

OO

GAMMA(Z), Z=i+j/8D0+1DO

AA2(tau) = A2(0) + A2(1)*tau~(1/8) + A2(2)*tau~(2/8) + A2(3)*tau”(3/8)
+ A2(4)*tau~(4/8) + A2(5)*tau~(5/8) + A2(6)*tau~(6/8)
+ A2(7)*tau~(7/8) + A2(8)*tau~(8/8)

Same function forms for AA1(tau), AAO(tau), BB1(tau) and BBO(tau).
1keV < tau < 300keV (tau =

inputs: KbT/mc"~2)

CCCCccceecceeceecceeceecceeceecceecceecceeceeeccecceecceecceeccecccecccec

real function GII*8(tau)
implicit real*8 (a-h, o-z)

real*8 A2(0:8), A1(0:8), A0(0:8), B1(0:8), B0(0:8)
real*8 (€6(0:8), €5(0:8), C(€4(0:8), €3(0:8), (€2(0:8)
real*8 AA(0:2), BB(0:2), CC(2:6)
data A2/ 0.9217DO0, -13.4988D0, 76.4539D0, -217.8301DO,
& 320.9753D0, -188.0667DO0, -82.4161D0, 163.7191DO0,
& -60.0248D0/
data A1/ -9.3647D0, 95.9186D0, -397.0172DO0, 842.9376D0,
& -907.3076D0, 306.8802D0, 291.2983D0, -299.0253D0,
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& 76.3461D0/

data A0/  -37.3698DO0, 380.3659D0,

& -2326.3704D0, -691.6118DO0,
& 492.5981D0/

data B1/ -8.6991D0, 63.3830D0,
& 977.5838D0, -1649.9529D0,
& 27.3354D0/

data BO/ -11.6281D0,  125.6066D0,
& -1156.8545D0,
& 250.1386D0/

data C2/ -5.7752D0, 46.2097D0,
& -329.5420D0, 191.0770DO,
& 0.0000D0/

data C3/ 30.5586D0, -248.2177D0,
& 1828.8677D0, -1068.9366D0,
& 0.0000D0/

data C4/ -54.3272D0, 450.9676D0, -1616.5987D0,

& -3478.3930D0, 2055.6693D0,
& 0.0000D0/

data C5/ 36.2625D0, -310.0972D0,
& 2541.9361D0, -1525.2058D0,
& 0.0000D0/

data C6/ -8.4082D0, 74.7925D0,
& -661.9390D0,
& 0.0000D0/

AA=0DO

BB=0D0

CC=0D0

do 100 i = 0, 8

AA(2) = AA(2) + A2(i)*tauxx(i/8.d0)

AA(1) = AA(1) + A1(i)*tauxx(i/8.d0)

AA(0) = AA(O) + AO(i)*taux=*(i/8.d0)

BB(1) = BB(1) + B1(i)*tau**(i/8.d0)

BB(0) = BB(0) + BO(i)*tau**(i/8.d0)

CC(6) = CC(6) + C6(i)*tauxx(i/6.d0)

CC(5) = CC(5) + C5(i)*tau*x(i/6.d0)

CC(4) = CC(4) + C4(i)*tau*x(i/6.d0)

CC(3) = CC(3) + C3(i)*tau*x(i/6.d0)

CC(2) = CC(2) + C2(i)*tau**x(i/6.

100 continue

GO=0DO0
G1=0DO
G2=0D0

do 200 Xi = ODO, 2DO
i=idint (Xi)

do 210 Xj = 2D0, 6DO
j=idint (Xj)
Z=Xi+Xj/8D0+1DO

CALL GAMMAFUNC (Z,GAM)
G1=G1+GAM *AA(i)=*CC(j)
G2=G2+GAM/Z*BB (i) *CC (j)

75.0102D0,

do)

-1489.8014DO0,

-128.8939D0,

1258.6812D0,

-532.7489D0,
996.8114D0,

-160.7280D0,
-46.2718DO0,

874.1964D0,
260.5656D0,

1138.0531D0,
380.0852D0,

-282.9540D0,
404.2930D0,

2861.4150D0,
2853.7893D0, -2040.7952D0,

-135.0312D0,
-404.7461D0,

1142.3873DO0,
-888.1895D0,

305.0070D0,

-1676.9028D0,

3148.1061D0,

-505.6789D0,

-2260.8347D0,

576.3930D0,
-102.2330D0,

210
200

continue
continue
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GO=2D0*AA (2) +AA (1) +AA(0)+0.5D0*BB (1) +BB (0)

GII=GO+G1+G2

return
end

CCCCccceecceeceecceeceecceeceecceecceecceeceeeccecceecceecceeccecccecccec

Qa0

Function GIII(tau) returns the fitting function of Wee(x,tau).

GIII(tau) =  2DO0*AA(2)+AA(1)+AA(0)+0.5D0*BB(1)+BB(0)

AA(2) = A2(0) + A2(1)*tau”(1/8) + A2(2)*tau”(2/8) + A2(3)*tau”(3/8)
+ A2(4)*xtau~(4/8) + A2(5)*tau~(5/8) + A2(6)*tau”(6/8)
+ A2(7)*tau~(7/8) + A2(8)*tau~(8/8)

Same function forms for AA(1), AA(O), BB(1) and BB(0).

inputs: 300keV < tau < 7MeV (tau = kBT/mc"2)

CCCCccceecceeceecceeceecceeceecceecceecceeceeeccecceecceecceeccecccecccec

data

data

data

data

data

AA(2)
AA(1)
AA(0)
BB(1)
BB (0)

AA(2)
AA(1)
AA(0)
BB(1)
BB (0)

real function GIII*8(tau)

implicit real*8 (a-h, o-z)

real*8 A2(0:8), A1(0:8), A0(0:8), B1(0:8), B0(0:8)
real*8 AA(0:2), BB(0:1)
A2/ 64.7512D0, -213.8956D0, 174.1432D0, 136.5088D0,

& -271.4899D0, 89.3210D0, 58.2584D0, -46.0807D0,
& 8.7301D0/
A1/ 49.7139D0, -189.7746DO0, 271.0298D0, -269.7807DO0,
& 420.4812D0, -576.6247DO0, 432.7790D0, -160.5365D0,
& 23.3925D0/
A0/ 52.1633D0, -257.0313DO0, 446.8161D0, -293.0585D0,
& 0.0000DO, 77.0474DO0, -23.8718D0, 0.0000DO,
& 0.1997D0/
B1/ 376.4322D0, -1223.3635D0, 628.6787D0, 2237.3946D0,
& -3828.8387D0, 2121.7933DO0, -55.1667D0, -349.4321D0,
& 92.2059D0/
BO/ -8.5862D0, 34.1348D0, -116.3287DO0, 296.5451D0,
& -393.4207D0, 237.5497D0, -30.6000D0, -27.6170D0,
& 8.8453D0/
=0D0
=0D0
=0D0
=0D0
=0D0
do 100 i = 0, 8
= AA(2) + A2(i)*tau**(i/8.d0)
= AA(1) + Al1(i)*tau**(i/8.d0)
= AA(0) + AO(i)*tau**(i/8.d0)
= BB(1) + Bi(i)*taux*(i/8.d0)
= BB(0) + BO(i)*taux*(i/8.d0)
continue

100

GO=2D0*AA (2) +AA (1) +AA (0)+0.5D0*BB (1) +BB (0)
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GIII=GO

return
end

CcCcceceeeeeeceecceeeceeceecceecceecceecceeceecceecceccceecccecccecceccceccce

Function GIV(tau) returns
the extreme-relativistic approximation of Wee(x,tau).

inputs: 7MeV < tau (tau = kBT/mc"2)

QQaQQaQ

CThis extreme-relativistic approximation was obtained by Alexanian (1968).
C
CCCCceeeeeceececececcececeececececeececececcecececececececcececccecccccecccccccccecce

REAL FUNCTION GIV#8(TAU)

IMPLICIT REAL*8 (A-Z)

data pi, emass/ 3.141592654d0, 510.998902d0/
GUM=DEXP (0.5772156649D0)
CON1=9D0/PI/DSQRT (TAU)

Gt=DL0OG (2D0*TAU/GUM) +5D0/4D0

GIV=CON1xGt

return

end
G T T e e e c
c c
c gamma function (input)
c
G T T T e e e c

SUBROUTINE GAMMAFUNC(Z,gamma)
REAL*8 Z,gamma
INTEGER i

CALL re_gamma_init
CALL re_gamma_func(gamma , z )

RETURN
END

subroutine re_gamma_init

implicit none

c*
c*
real*8 b2n , pPi
integer*4 ic
c*

195



c*
C*

c*

c*

c*
c*

c*

c*

c*

c*

c*

c*

c*
C*

c*
C*

c*
c*

real*8 cc , In2pi2, pi2

integer*4 n_08

parameter (n_08 = 8)

common / re_gam / cc(n_08), 1ln2pi2, pi2

dimension b2n(n_08)

b2n(1) = 1.d0/ 6.d0
b2n(2) = -1.40/ 30.d0
b2n(3) = 1.d0/ 42.d0
b2n(4) = -1.d40/ 30.d0
b2n(5) = 5.40/ 66.40
b2n(6) = -691.d40/2730.d0
b2n(7) = 7.d0/ 6.d0
b2n(8) = -3617.d0/ 510.d0

do ic = 1, n_08
cc(ic) = b2n(ic)/dble(2*ic*(2*ic-1))
end do

pi = acos(-1.40)

pi2 = 2.d0*pi

1n2pi2 = log(pi2)/2.d0

return

end

subroutine re_gamma_func(gamma , z )

implicit none

real*8 gamma , z

real*8 loggam, zz , norm , one
one = 1.d0

norm = one

zZz =z

————— setting Re(zz) > 10 -----
call re_gamma_norm (zz , norm , one )

————— setting log(gamma) -----
call re_gamma_log (loggam, zz )
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cx
c*  -—-—= setting gamma(z) -----

call re_gamma_value(gamma , loggam, norm )

c*
c*
return
end
subroutine re_gamma_norm(zz , norm , one )
€ o e
c
c normalization factor
c
€ e
c
implicit none
c*
c*
real*8 ZZ , norm , one
real*8 rr , cut_vl
parameter (cut_vl = 10.40)
integer*4 icount, mxloop
parameter (mxloop = 1250)
c*
c*
icount = 0
10 continue
icount = icount + 1
rr = zz
if (rr .1lt. cut_vl)
1 then
norm = norm/zz
zzZ = zz + one
if (icount .1t. mxloop) go to 10
write(6,9000) icount, zz
stop 99
end if
c*
c*
return
9000 format(’program error at gamma_norm(icount, zz) :’,/,
1 i6,1p6el2.4)
end
subroutine re_gamma_log(ln , Z )
€ o e
c
c log (gamma)
c
€ o e
c
implicit none
c*
c*
real*8 1n s Z
real*8 zl , Z2 , vl , v2
c*
real*8 cc , In2pi2, pi2
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integer*4 n_08
parameter (n_08 = 8)
common / re_gam / cc(n_08), 1ln2pi2, pi2

c*
c*
zl = 1.40/z
z2 = zlxzl
v2 = (((((((cc(8)*22 + cc(7))*z2 + cc(6))*z2 + cc(b))*z2
1 + cc(4))*z2 + cc(3))*z2 + cc(2))*22 + cc(1))*z1
vl = (z - 0.5d0)*log(z) - z + 1n2pi2
In = vl + v2
c*
c*
return
end
subroutine re_gamma_value(gm , 1n , norm )
€ o
c
c log (gamma)
c
€ o
c
implicit none
c*
c*
real*8 gm , 1n , norm
real*8 zl , Z2
c*
real*8 cc , 1n2pi2, pi2
integer*4 n_08
parameter (n_08 = 8)
common / re_gam / cc(n_08), ln2pi2, pi2
c*
c*
zl = 1n
z2 = exp(zl)
gm = normz2
c*
c*
return
end
subroutine re_log_gamma_func(gamma , z )
€
c
c gamma function
c
€
c
implicit none
c*
c*
real*8 gamma , z
real*8 loggam, zz , norm , one
c*
c*
one = 1.d0

198



c*
c*

c*
c*

c*
C*

c*
c*

c*
c*

c*
c*

c*
C*

norm one

————— setting Re(zz) > 10

call re_gamma_norm (zz

————— setting log(gamma)

, norm

call re_gamma_log (loggam, zz

————— setting gamma(z) -

, one

)

call re_log_gamma_value(gamma , loggam, norm )

return
end

subroutine re_log_gamma_value (gm

implicit none

real*8 gm ,» In

gm = 1n + log(norm)

return

end

, norm

199



